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In vaccum all objects fall with
(A)  same acceleration and heavy bodies reach ground first

same acceleration and reach the ground at the same time -
(C) different acceleration and reach the ground at different time
(D)  different acceleration and heavy bodies reach ground first

eréver Gurmaraenb eupdlL gl eflpb Curg

Q)  W»EEsbL @Gy Samaursebd, o BEHs AUl s s@raw wWwsald QaTHwb
(B)  yHssw Gy seraunsab, ereverr AumLs@sb GCr Crrsdo saramw AsT@w
©C) hssw QaucuCaupraeyb, AeucuCaum Crrsdla saremw AgrHib

D)  w@Hsswb deusuGaupnaay, Hlenm WEGHS QuTmHLs6r (Ppsdla soreaw AgmHib

The time of reverberation of a hall can be decreased by

(A)  having a number of loud speakers \@(‘ opening all windows and doors
(C) closing all windows and doors (D) speaking loudly

2@ se@pulo adli (pés Cprsmss G@DLLSHEG

(A)  2fls arananiisanasuiie gel CLimadlaaner LweruH&sod
(B) eréver menared sseysamar Smbs) eneuss Gouam(Hitd

(C) eéar gmenard s564&HMET pplg. eusHs GouearT(Hid

D) sssons Cus Cauan(Hib

Which spectroscopy is used in chemical examination of interstellar space?
\(% Microwave Spectroscopy (B) Infrared (IR) Spectroscopy
(C) Raman Spectroscopy (D) NMR Spectroscopy

aflamr@euaflulien Ceudl pymiisdléE erhs Dmawreaauiud uweruBEng
(A) meamamae ienaTenauiluic

(B)  @ssfleuiy (IR) smewraneouldwie

(C) pgmoen sjewavwmeneulwicd

D) cigmssmeThs ssdTa) DT UTLID
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4. The Indian Salt Petre is
(A) Ammonium nitrate .(NH‘I NO,) (B) Sodium nitrate (Na N03)'I

M Potassium nitrate (KNO,) (D) Calcium nitrate Ca (NOJ),

@bHwer sl LT erarLg)

A) <wCoraflwb e _Crl (NH, NO,) (B) Cemgquib enp G (Na NO,)

(©C) Gumiirdwn émml'_Gl;r:'_ (KNOQ (D) sreflwb e Cr Ca (NO,),
5. The unit for equivalent conductivity is

(Ad) ohmlem™ ' (B) ohm 'cmZeq™

\(%‘ ohm ‘em?eq’ 2 ' D) S cm_zed A

soner sL_s5 Hpaflen S E

(A) ohmcm™ : (B) ohm™cmZeq™

© ohm ‘cmZeq ! M) ScmZeqt
6. The main constituent of steel in India are . '

(A) Niand Cu ' ' (p( Mn and Cr

(C) FeandCu (D) TiandCr

@lfp'}ﬁ_u_irreﬁlsb Sl (1 @@Lbﬁsh W&Ew ppelIQummeT
(A)  Hésd wHmbd sMAFD (B) wrisets whmib GCrmlwib

©) @mwoy whmb smblyn (D) e CLaflwb whmw @Cymdlwb
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10.

When did the Prime Minister of India inaugurate the country’s longest rail-cum-road bridge
built over the Brahmaputra river at Bogibeel near Dibrugarh in Assam?

(A)  On November 25, 2018 U OnDecember 25, 2018
(C)  On December 10, 2018 (D) On November 10, 2018

Grbwysyr Cuwe 2drer priger s B guild wHMD FravsETET urre)géng, Sjevaumdle
A maniay siméaiearear CurgiSe erenmp @8 @bHw GOrswor eri@umg Qsmrud eeugsni?
(A) peubuir 25,2018 _ (B) wgabur25,2018

(C)  gebuTl10,2018 : ) (D) meubuir 10,2018

The end product of anaerobic respiration is

(A)  Acetyl Co-A @{ Ethanol alchol
(C)  Pyruvic acid (D) Succinic acid

srhileer seurssdle @muirs fa_ss06Eumeug)

(A) =iflere Co-A (B) ersdér gosanmed
©) eumeis sllab D) s&afls sl

Golden rice is a genetically modified crop. Where the incorporated gene is meant for
biosynthesis of

\gﬂ‘ Vitamin A ; (B) Vitamin B
(C) Vitamin C (D) Vitamin D

Careoien Ml erenugy @@ wrugy wrHpprul L Ll D@, B emmudmeanss wrug 2 uilflw
Qedleysareang

(A) el flemA . ' (B) el L1flen B

(C) ellifen C (D) e flerD

Most widely used bioweapon is . . :
(A) ° Bacillus subtilis (B) Vibrio cholerae
Bacillus anthracis , (D) Escherichia coli

s ugeuens LweTuHL 2 uilfl Qu g

A) Cudlaeen gligaeden B). eNuMCwr sreGiy
(C) Cuilaeas ophsrmdlev : D) aev@evffwur Carena
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11. Among the following plants, which one has oil repelling property?

(A) Tobacco ' (B) Maize

(C) . Hibiscus | M Aloe Vera
Qeupmer eThs Sreunid ‘TamtamTulianar eflews@b Fpen 2 L wgi?

A)  ymsGoe } - (B)  wésrs Gerend
(C) Qobumss (D)  sporenp

12. What happens in human Thalassemias?

1 reduce o — globin synthesis

2. | reduce S —globin synthesis

3. enhance @ and g — globin synthesis

(A) 1 alone correc;; (B) 2 alone correct
M 1 and 2 are correct (D) 3 alone correct

sfllwr Gl e draTalisEhs e aTened henl Lundlng?

1. a — @Gemmer 2 (heureug) G@nésiuHHns

2. B — aGearmllen 2 meureug @m@muu(@ﬁm@

3. a whpb f — GGarmien 2 (Heureug) aé\aﬁl&&ﬁu@ﬁm@
@ 1 mLGLb &l . . B) 2wl &
(©) 1 whpmbd 2w G & D) 3wl @b s

13. Which of the following plant boosts the production of red blood cells?

(A) Turmeric B) Tulsi

\(W Lemon grass ' (D) Mustard
Yemeumeuareud ey 6ThE Sreurid @rss HeuliLign 2 HUSH MW FewTL & Fnig wig)?
(A wEpsar ' B) serd
(C) erguiflFsd Y D) &6
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14. Consider following statements :

1. 21 June — Summer solstices more radiation received by northern
hemisphere

2. 23 September — Autumn equinox not equal radiation in both hemisphere
3. 22 December — Winter solstice more radiation received by southern hemisphere
Select the correct answer using the code given below : '

(&) 1land?2 \# 1and3
(C) 2and3 ) (D) 1,2and3
Gemeu(mLd gabblenas a;@g,élau Qasmers :
Xz 21 g9 - auL_Garergdlen flasorear Qauliublena QupliuGEnsg.
2 23 Qelibur - GO FOWTET erefled el HMILD Gger Gi(Heumksete Geuliublene

@muudlaeme.
3. 22 gL - Gaflt sragde sear gimeub s Geuliublane Gumilnsg.
ECp Qar@asuul_(Harar gHuiBsaia Qmobg eflwrear el emw CarbEs0 :
A)  1wHmb?2 ' B) 1wpmw3
(C) 2womb3 ; (D) 1,2wHmb3
15. How many seismic zones grouped in India?

w 4 (B)
€ 6 D)
@b&wreller Lell ifiTe, LT _RISHT eTHsaman?
A 4 B 5
(C) 6 . D)

16. Sabarmathi river flowing states

W Madhya Pradesh Rajasthan and Gujarat
(B)  Gujarat and Rajasthan

(C) Madhya Pradesh and Bihar

(D) _ Maharastra and Jharkand

Ul L LMD WIHlBIGET eTeneu?
(A)  wsslu ArGsew, QrTYEvETaT LHMID GHYITS

B)  GxITsS wHHID GrTmevgTe
(C) wsHu 9FCsew WHmID e
(D)  waryreygIT WOHMID QITES6HTL

o= 7 ' GR1P
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With reference to black soil, consider the following statements :

1. Itis generally clayey, deep and impermeable.
2. They swell and become sticky when wet and shrink when dried.
3. It retains the moisture for a very long time.

Which of the above statements is/are correct?

(A) 1only 1 and 2 only

(C) 3only M 1,2 and 3

&mUY e AsTLiuns, S Qsr(ésuulL AsTElusmar (piga Qeiss :

18.

1 Qurgieuns safler geneno, ppwrar wHmID BT HLsHeflLT senamio @.-srm&m_g.}.
2. FrweL Wb Qumpg 2 Luerse b, 2 b QuTE SHRSyD sTeriu@BLb.

3. S Senenloenil HarTL STasHN @ 556 meusg)s QameTEnibD.

CuGe Q&TRESILLL @zl erg)/eranau@uicrambd Fflurereancu?

(A) 1lovi@d - B) 1 wHmbd 2wl Hib

(C) 3wl D) 1,2 wHmbd3

Different types of vegetation is found in different parts of India — due to

(A) Topography

M Unequal distribution of Rainfall and Temperature

GR1P

(©) Soil

(D) Temperature and soil

ueGaumy Guma;mfrauf_gnsu pruger, @pdluinedlen uwCeun LGHaaicr i bHFIETeTEn DS S, STFERTD
A) Qrsiewe

(B) QaiuBlere wHmb weni@umeSien FOWLHM LIF6ID

(©)  wehr

(D) Qauduflenew DD Lo&kT



19.

20.

21.

22.

Creamy layer concept was first introduced in the case of

(A) Lakshmikant Sukla Vs State of Uttar Pradesh
M Indra Sawhney Vs Union of India

(C) K.K. Roy Vs State of Tripura

(D) Jitender Kumar Vs State of Uttar Pradesh

“Geenn SiRsdant” erayb SHmESTAG (WHT WHND B WPSULHSSILLL Q&S
A)  eLsbllenhs saor Vs 2 58595Cses oips (B)  @Qpdrresrad Vs @rdw weflwen
(©) KX grd Vs Sflygr sips (D) D95Csmsm @wrr Vs 2 8595Cses s

- Agricultural crop insurance was introduced by Government of India in
(A) 1986 (B) 1984

M 1985 (D) 1989

efleugmu LWdT STUSEH Weaperw QbW igsThsD QaraT® cubs <pETH 6T8?
(A) 1986 (B) 1984
(C) 1985 (D) 1989

_ Golden Quadrilateral distance between Chennai and Kolkatta is

1684 Km (B) 1453 Km
(C) 1290 Km (D) 1419 Km
Qsenenan — QamaassT @enL Cuwrer $ms BrHaETF sraneudle T ereucara?
(A) 1684 8.6 (B) 1453 4.8.

(C) 1290 £.5. (D) 1419 &.5.

Which of the following statements about the first amendment to the constitution is are true?

1. The first amendment was enacted in 1952.

II. The first amendment was enacted before the first general elections.
III. It was enacted by the provisional parliament. '
(A) TandlII are true . \ﬂr II and III are true

© I and III are true . (D) 1, II and III are true

s Hmss5 &L;Lgsmg,u udHlw euTsSwiiseie GTENGU [ GTS) 2 GHRTENLDILITEITENEU ?
L Wws& Hpsss s_L1b 1952 & Qupmiiul L g).

II. oo HpHsE LD s Qung CaTsans s (per| Gubmiul L gl
III. @s snaredls LUTFTERLETDSSTO QuIHDLILILL ).

A  Toomgo Il &f B) 1I womw IIT &M

() T wpmb III & . (D) L II womiw III &

9 ~ GR1P
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23. Which one of the stages of Man’s progress is not properly Matched?

(A)  Primitive food collecting stage - Stone Age

(B). Advance food collecting stage - Mesolitic Age
M Food production stage - Chalcolitic Age
(D)  Urbanisation - Bronze Age

Swaramid erhs wellg euariéd Lflwrard sflwrs QuIGBEsLLLldama?

A) Yergrslu o ane| Casflagbd Hlae - SN&ETLD

B)  parCanhw o arey CsafléEn Hlaw - @lenL sDH&TeLD

(C) zawasurilé@b Hleaa - Fr&&lEs smevid

(D) msyoLwLTEEGSD = GQeuaae Srab
24, The most outstanding Buddhist writer in Sanskrit was

(A) Kalidasa Asvaghosa

(C) Bharavi (D) ‘ Kumaradasa

swevd(masHe Spbg eSlemrdlu Uss eT(pgsmenit

(A)
(©)

sreflgran B) sievauGsrsr

urged | D) @Ewrrgrsi

25.  Arrange in chronological order :

1.
2i
3.
4.
(A)

7

Battle of Chausa
Death of Babar
Battle of Kanaoj

Death of Akbar
1-2-3—-4 B) 4-3-2-1
2-1-3-4 (D) 3-1-2-4

EpsarLmeusmen s auflensiui(HSH)s :

13
2.
3.
4.
(A)
(©)

GR1P

Qeerer GurTésed

urufles wrewTd

senGenmgy Cuniésard

S1&5Ufle yeRTD

1-2-3-4 B) 4-3-2-1
2-1-3-4 (D) 8-1-2-4

10



26.

27,

Ram Mohan Roy accepted the concept of God propounded by the Upanishads.
Swami Dayananda accepted the Western ideas.

The social reform leaders fought for the problems of women and depressed classes

B 1o

1918 the form for Brahminicial organisation South, Division liberal federation was
started

M 1, 2, 3 are correct 4 only not correct  (B) 1, 3, 4 are correct 2 only not correct

(C) 1, 2, 3, 4 are correct D) 2,3, 4 are correct 1 1s not correct

L grid Cuorgen prl 2 uBlagsdlen eufl eyt Qamarengeanw ghmé CameamLmi

2. Geunl GuiITehs Freveusl Gmg’).a;gﬁu_i Sbgena eUTHSMmS 6 Hmid0lemearTLmi.

3. seps FTEmaseundlaear QU 3igew LHNID STPSSILLGLTT Fo@)sE LTHuL LT

4. 1918 & Wiymoewr ey QuisEwrny Ogaalbiu ellBizame siwiiy o (Haunésbd Qubng
(A) 1, 2, 3 wl (i &f 4 seum (B) 1,3, 45,2 Heum

(C) 1, 2, 3, 4 & (D) 2,3, 4sf, 1z

Which of the following facts are true regarding the commercialisation agriculture under
British rule?

1. Money lending and exploitation of Poor peasants
2. Scarcity of food

3. Increase the demand of cash crops

4. Commercial agriculture went in bankruptcy

(A) 1istrue, 2, 3, 4 false
(B) 2, 3, 4 are true 1 is false
(C) all are false statements

\W 1, 2, 3, 4 statements are true

mde g fullér efleusmub euamflswwih HerCung goul L eflearaysenst unidlw shHmsaile erg)
2 _GTENLOWIMETS)?

1. QUL Iy SETTTEHET G)lgq.uflemeuiaenar &ireur(H e
2. 2 ewteyss_(Huum®

3. uastiuwdiT Caeneu iglaiy

4. uertLudT euanflgib Heurer@se

(A)  1wl@wef 2, 3, 46 e

B) 2, 3,481 sf oo

(C) imenssg geu .[Drremgl

D) s@marsgbd sflwireng

11 GR1P
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28. Name the famous dancer who crowned as ‘Kathak king of India’?

(A) Prem Chand w Sambhu Maharaj
(C) Thyagarajar - . (D) Fate Singh

‘@pHwnellen 556 HLT iTFT GTET aqemgé’.&ﬂﬁ@& BL &g Ehflem QL
(A) © GCGrens (B) &by wargrgr
(C) Sursgrg (D) CGus S

29.  Which among the given facts became the primary reason for the leave of E.V. Ramaswami
from Indian National Congress?

" conlict with M.K. Gandhi

(B) crisis in Seranmahadevi charity training centre
(C) congress ideology

(D) communal disparity in Congress

m.CGeu. @rmosmdl @pdu Csflw smhdlrfldmbg QeuaiCunausnE Speupgerer sryemmsafld
(PSETENLDIITENG) 6TF)?

(A)  Gors. srpduyamar gprerun

- (B) GagemoanGgell gm@eo Liné emwwgde Haepbs Sead
(C) smudgflen amsHwe |
D) smdrde seps lgHwursd

30. Which strengthened the National Movement?

(A) Europeanisation ' (B) Marx1an theory
(C) Religious faith \w Secular ideology

Casflwu Quisssms ugi@uné Qawiss) erg?
A) auCrmrulubwwrged (B) wri&flwu Qeretens

(©) svw pLYsSHs : (D)  wsssmiUDD HHSSH WD

GR1P 12 -



31.

32.

33.

The financial control exercised by the Parliamerit over the executive through
\W The comptroller and Auditing General of India
(B)  The Auditor General
(C) The Finance Secretary
(D) The Accountant General
@pdwu urprepweanb deumm § oot g saig Hfsrihs s Guumn e CeQisgid Qeur
uPICus @ Lb.
A) GBdHw smemn sansE LHMID Safléms BeiaieT
B) B sawfllsns gemeaeur
©) Hosgen Aewemart

(D) swemw seTHE ST

The Comptroller and Auditor General is appointed by The President of India under which
Article

(A)  Article 162 & Article 148

(C)  Article 153 (D) Article 174

BbHw saeamns saflsmaureareay ehs elHular Uy Gigwrs seeeut Hluwerd Gewdpri?
A) &f4 162 (B) <4 148

(C) &94 153 D) &ad 174

Consider the following statements :

1; Article 308 to 314 of the constitution with regard to the All India services.
2. Article 308 exclusively apply to the Jammu and Kashmir.

3. The Parliament has enacted the All India Services Act in 1952.

4. Article 312 empowers the Parliament to create new All India Services
Choose the correct answer :
W land4 (B) 2only

(C) 4only ' (D) 4and3

SLpeu(Hid Gurra;a%]u_lg,mg S(HSIS : .

1. 2 miliy 308 apse 314 cuampullener ipaemoli] L b e @Iﬁé‘;lu ueflsar undl samflmg
2. 2 miy 308 awpodlaid Qbp sreuli eSleusTynisEhassTeag

3. umrymenLeDbD Sde @bHw ualser s Lgmg 1952 oyb peamr® @upblwg).

4. 2 My 312 unpmepLeaPSSHE UHw de @bHw umiamw 2 (Heurss HHsTrb elsdnsg.
sflwer elenLenw CoibLSHES : '

A  1woomn 4 (B) 2wl @b

©) 4wi@w D) 4wvompw3 .

13 GR1P
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34.  Article ——— was inserted into the constitution under the 734 Constitutional

Amendment. .

(A) 245B : (B) 244B
\(f 243 B (D) 242B

Sirflwe grgar 94 - . T3eug erdlue Hmsss slLgdleame Sipfluwawlibe
Carasliul L g).

(A) 245B (B) 244 B

(C) 243B (D) 242B

35.  Who among the following was the Cabinet Minister without portfolio?
(A) C. Rajagopalachari
(B) T.T. Krishnamachari

M ‘N. Gopalaswami Ayyangar
(D) G. L. Nanda

ELpeU(HUGUTHERET WTT @lersT @aers e iewdarrdueur?
A) C. grnCsrurersgrf

B) T.T. Sipeigemriomasmfl
(C) N. Garureend gurisTT
(D) G. L. spsar

36. Which one of the following statement is not with regard to powers of the Parliament?
(A) Parliament can approve three types of emergency provisions
M It cannot abolish State Legislétive Council
(C) It can alter boundaries of the states

(D) It can establish a common High Court for two or more states

BILTEnatnsSlen SSsrymiser Qgrrurs Yeareumueuarepdle ereneu gflwea?
(A)  mrom@Epwermid epenm eflswrer Sieusr Hlenevls NFaELaISms e EeeTDd
(B) mrLm@pwearpbd wrfle L Coaameusmw Hés @qu_lrrac_ﬁ;

(©) wrbleomseien eréamaEemeT LTHD (PLGUL{D

D)  @mowurdovansms @QreaT( Sivawg 2s5nHE CuoulL LIHloREERsHE THUBSSOTLD

GR1P | 14 R -



37.

38.

39.

Jallikattu, the bull taming sport of Tamil culture and tradition is protected according to
article ————————— of the Constitution of India

\W 29 (1) B) 39 (1)

©) 49(1) D) 59()

padlsl B, gnswess elametwurl () eeap sllpflear sorésmy wHmD vaTuTh  QBAW

iysennl9en eflglullen Lig LrgETiL SaflEalul_Harens):
A 291 B) 39(@)
© 49 | D) 59 Q)

Who headed provincial constitution committee of constituent assembly?
(A)  J.B. Kirpalani

(B) H.C. Mukherjee

(C) A.V.Thakkar

M Sardar Vallabai Patel

Srflweenoiiy Hliemu saouulier GpmhHlw é:ﬂréhusummu-q SO g ullel HeneOeuTTS @) (mHBSEUT Wi?
(&)  JB. fiurwaf

B) H.C. wpsrgd

(C) AV. grgam

(D)  srgmi eucdevuimis L CLa

Who among the following was not a member of Drafting commaittee?
(A) K.M. Munshi
(B)  Alladi Krishnaswamy Ayyar

M Pattabhi Sitaramayya
(D) XKrishnamachari

Epasem_cundle) eTeurm @mﬁeqéa @(pefley 2 myLs Qenyrs @Lib Qupeddame?
@A)  KM. gend )

B) ey Smagaerand guir

(C) ulLm8 Aggrrmowiwm

D)  Hmeyenromgn)

15 GR1P
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40. L The constitution is a source of, and not an exercise of, legislative power;
1L Constitution springs from a belief in limited Government
Which of the statements given above is / aré correct?
(A) Tonly
(B) IIonly

" BothlandII

(D)  Neither I nor II

I Sirflweebliyd LD eremug SLLIDSMBMGETTL 2 (HeuT&sULMHGUSO®; IDES b
LOGITD B & (EHSSTE <S4SI ALPGVLD SO ;

I1. auren(pepUILESSILLL  JATFTRGD aaugea  Sgmar  pLUS®S  THwEmLUILF
sLL5EHCE IPEAsWaDS
Cupsear._ smpnaefla erg sflurerg? -

A Twvl@Btw

B) 1 bl @Gw
C) T opno Il @rar@in sMCuw
D) I wpgid Il @rer@Go sflwde

4]. Which committee was appointed in 1986 to deal with ‘Revitalisation of Panchayat Raj
institutions for democracy and development’?

(A)  Ashok Mehta Committee
(B) G.V.K. Rao committee

M L.M. Singhvi commi.ttee

(D) Santhanam committee

1986w yamge, “wisemm S wHmbd Cubumliyhers LEFTLSE Bneamsmer UsHUITAGEs
SMWSSILIL L G(P 6TEI?

A)  =Cagrs CuEsT &W
(B) al.69.Ca. ey G
(©C) ed.erd. Ame Gy
D)  spprand G

GR1P 16 =



42

43.

Métch List I with List IT and select the correct answer using the codes given below lists :

(a)
(b)
(©
(d)

4

(B)
(©)
(D)

List I (Event)

Special Economic zones policy

New Foreign Trade policy

Goods and services Tax act

Narashimham Committee Report

(a) (b) (c)
2 3 1
2 4 1
4 2 3
4 3 2

(d)

1
3
1
1

List IT (Year)
1.

o

ol

1991
2000
2015
2017

Qurmggsis ulgwe I wHmw II ew urmss ECy Qsr@ésuulBerer sflwmer fenLanw Cairey

Q&g

(a)
(b)
(©
(d)

A)
(B)
(©)
(D)

ulgwe I (Baspey)
Apuiy QurmerTgmy weTL@ GaTdarens
ydw verrenm_{ eurenflu Qarerens

Qumrper wHmb Lt euflF &L b

BrSbWD Sl I

(a) (b) (c)
2 3 4
2 4 1
4 2 3
4 3 2

(d)

1
3
1
1

The father of Green Revolution in India was

(B)
(©)
D)

@nfHwunelen ugemo Yy SHulen Hens T EPESUILILLGUIT wimi?

(&)
(B)
©)
D)

M.S. Swaminathan
Gandhi
Visweswaraiah
N.R. Viswanathan

M.S. seumblprgen
s
eflevQeuseurmiiwm

N.R. afleveuprgen

17

uligwe IT (@)
1.

2.
3.
4

1991
2000
2015
2017

GR1P
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44,

45.

46.

Which one of the following is the source of direct tax?

M‘ gift tax (B) customs duty
(C) excise duty ; (D) service tax

&Cy Qar@ssiu_@erer Gamisaila g Crips auflenw eribsg?
A)  euefluy eufl B) srgeu
©) 2odusd eufl " (D) Gsenau aufl

The sum of the deficit under Revenue account and deficit under capital account is

w budgetary deficit

(B) primary deficit '
(C) fiscal deficit

(D) revenue deficit

BLULS S60T&E UDDTEGMDEN LD FHSET SerT&HELI LDDTHEG@DELD dni_lg SaniLg)
A) APbme sdsms LHDTEG®D

(B)  wsa@w uppTEGED

©) PO upprEGED

(D) G}J@sunﬁ UDDIT&EGenD

The process of removal or relaxation of Governmental restrictions in all stages in Industry
is known as

(A)  Privatisation M Liberalisation
(C)  Globalisation (D) Disinvestment

Qsmfagiemn BLegsmesaNd Sirfler sLOUTRsmen saTisgams Sowg WHHILTE fewss
QameTEnd penment ' . '

(A)  seflwrt wwwLTEsD (B): smymer bwWWLIESLD

(C) 2@swLWWLTESD D) apagear eflassa
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47.

48.

With reference to the Rural development in India, consider the following statements :

I. Poverty alleviation and welfare of the people
II. The process of urbanisation in rural areas .
Which of the statements given above is/are correct?
M I only

(B) IIonly

(C)  BothIandII

(D)  Neither I nor II

dlgmoyp penGearmapid, ‘@‘[bﬁmrreqd) arenug), P& cuTsESHwSHled amms :

L aumiento eLPILILD, Srmoym wéseflen Hemenow|b

II. SrroLphismer HETWLWILTEGSNEES euldleums Geigmib

slwrer eursdlwdeans CaHs® : .

A& 1wl S - B i T

©) L IIgnen(wo D) I II grer(HCio Gevanew

Which of the following is/are eligible for “Kisa.n credit card”?
1 All the farmers

IL. Share croppers

III. Tenants |

Select the correct answer using the code given below :

(A) Ionly

B) TandII

(C) IIandIII

PN [ landII

“dlenvme &L_atr ..—_9-|I'_-6‘a')l_” &CEL)Q G&n@e’sesuul;@ai'rm BL(HEE@ WT(HEE $GSHenL_wig)
L. Senand g efleusrulger

II. vl GCeurt uki@GsTyT

III.  @ssmsstym

Spaar_eune org eein sflwreng :

A) I @b '

B) - Iwomyw II

(C) 1II wpmbd III

@ I Mepud I
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49.  Match the following

(@)
(b)
(©)
(d)

R . I 1 2
B) 3 -2 1
© 1 3 2
D) 2 3 4
Spssamaupeon QUTHSSEs :
(a) Came erpssl
(b) absTD 6T(PFE
() Garar@ser erapssl
(d) <=Capmbsererpas

(a) (b) (©)
Aa 4 1 2
B) 3 2 1
<© 1 3 2
D 2 3 4

Kol uprising
Santhal uprising
Khonds uprising
Ahoms uprising

(a) (b) (©)

Ll

(d)

— kW

e, 00 40 i

(d)

— R s W

Bhaalpur
Orissa
Assam

Chotanagpur

LImeD LI
efleveur
<B|GENITLD

GemlLm préuyT

50.  Which decision of Gandhiji was opposed by Ambedkar?

(A)
(B)

D)

Partition India

Calling lower castes °
Satyagraha Movement

Non-co-operation Movement

eThs &(HSS (Piyeile sMhHEGL SDCLSETHEEGL QenLulle ity gHlul L g?

(A)
(B)
©)
(D)

GR1P.

@ndw GfleSienen
SMp&SsLILL_GLmi

#5Hwrdlrs QuEsid
REHZHMPWIT@®L QUISSHLD
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51.

52.

Arrange the following 1n chronological ofde_r.

1.
2.
3.
4.
A

N
(©)

D)

Communal award

Nehru Report

Gandhi Irwin Pact

Visit of Simon Commission
3 2., 1.- 4

& 2 3 1
9 g 1
1 4 2 3

Gemeumeuaneumenm srealflensliuig H&EGS :

o

(A)
(B)
(©)
(D)

uELILS QeTaL
Crm 1dl&ma

anhd Gredlern @UUBSLD
MELDET &1 GU(HENS |
3 2 1

[N
[ e

4 2
2 4
1 4

o W

Match the following connected with the year of Acts

(a)

. (b)

(©
(d)
A)

(©)
D)

Qémau(mid T s_L hisemanyb QgL i jeter Hspe semenuyh @mearés :

(a)
(b)
(c)
d)

(A)
(B)
(©)
D)

Introduction of communal representation 1. 1935
Right of discussing Budget 2. 1919
Separation of Burma 3. 1909
August Declaration 4 1892

(a) (b) (© (d)

3 1 4 2
3 4 1 2
2 1 4 3
4 2 3 1

Ll ArdHlsgieubd Sidlpsid L. 1935
Héfema idamasamu efeurdlés o faw 2 1919
urror A&sLu (e 3. 1809
2560 ([H M &Sens 4 1892
(a) (b) (c) (d)

3 1 4 2

3 4 1 2

2 1 4 3

4 2 3 1

21
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53.  The sequence in which the given terms are mentioned in the preamble to the constitution of
India is:

w Sovereign, Socialist, Secular, Democrétic, Republic
(B)  Socialist, Secular, Sovereign, Democratic, Republic
(C)  Secular, Sovereign, Democratic, Socialist, Republic

(D)  Sovereign, Democratic, Secular, Socialist, Republic

snfueenwide wasuymruie @il uul GHarar Aasraramssaflan sflwrer euflens:
(A)  @epuramenio; SO, FOWSTTUHD, LESETTLE), Gl w8
(B) swsmwb, sowsTTLOD, @mpu_lnas:uremm, wésenT_ &, Gquim’ 8
(C)  swwsrTuHD, GePDWITETENLD, EGHETTL &, FSTOD, &g uim &

(D) @enpwuraremw, WasETTL&, FLWSFTTUDD, FSTOWD, &g wT s

54.  In a right triangular ground, the sides adjacent to the right angle are 50 m and 80 m. Find
the cost of cementing the ground at Rs.5/sq.m

(A) T 20,000 (B) ¥15,000

\(9/' %10,000 (D) % 12,500

@m deerwur_ HsHLe GemCarer W&Camamd eugeiler 2 erergy. QemCsransmss SThED
ussmsar 5005, 805 HLald AQwerr L& s5T BLL(15EE 5.5 6isn @b Aorss ewmeud sTaT.
(A)  5.20,000 (B) 5.15,000

(C)  ¢$.10,000 . (D) 5.12,500

55. The average of 5 numbers is 180. If one of the numbers is removed then the average
becomes 155. Find the removed number?

(A) 240 G 280
(D)

(C) 320

5 aramasafler ggmafl 180 eupdle e ararrenant Badlanmer ggmafl 155 eran wrmdlng erafler BéaiuL
CTERTEN TS &ITERT 5.

A 240 (B) 280
(C) 320 (D) 360

GR1P | 22 c



56.

57.

58.

A person crosses 600 m long street in 5 minute. What is his speed in km per hour.

A) 36 g T2

(C) 84 (D) 10

e@® pum 600 B Serperer g Gsmeneu 5 HIBlmisalledr sLsdlprt arafler Sjeufler Coussams
&5/ wenflulley snm. -

A) 3.6 (B) 7.2
(C) 84 (D) 10

~

A man travelled % of his journey by coach, ;—; by rail anli walked the remaining 1 km.

How far did he go?

W 22 km "(B) 20km

(C) 33km ' (D) 27 km

RHAUT gl Lt sl % utiens Caréa cuaniguigd - uieng Tufler eueiriguilgud,

22
Bsperer 1 HCamblL ey BLBFID SL_SSHnmT erafléd) Lwewr SNy eTemen?
A) 224.8 (B) 204.8
(©) 3348 (D) 2748.8

A.ramp for unloading a moving truck has an angle of elevation of 30°. If the top of the ramp
is 0.9 m above the ground level then find the length of the ramp.

A 2m _ B) 1.5m
1.8 m D) 1.6m

@@ sow 2arulla(mhg sewer Qnés éygjsu & 30° gns Caramsdler gm smilas ST 2 6TeTg).
smiey gensdlen o &8, saruielmng 0.9 S 2 wrgdd o drerg) erafle), smiegsersSen Hard wimg?

A 28 B) 158

© 1848 | © D) 166

23 - GR1P
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59.  The standard deviation of 10 values is 3. If each value in increase by 4. Find the variance of

the new set of value.

@) 30 ® 12
W o - | | ®) 3

10 wduyseflenr L elassnd 3. geauleurm wHuyLD 406 smliL  HoLsEhd yshu Sl

Nevsasden ellewss eumss syrafl wrg?
A4) 30 | (B) 12

© 9 D 3

60. Find the next term of this sequence 11, 13, 17, 19, 23,

A 25 B 27
(gf 29 . (D) 31

11,13,17,19, 23, ——————— arenmp @gmit euflengufied SISl 6u(mHD 2 myLiL] 6rg)?
A) 25 B) 27

© 29 D 31

61. Find the mean of 2, 4, 6, 8, 10, 12, 14, 16.
(A) 10 , J 9
' . D) 14

©) - 12

s (hearafl sremreyd. 2, 4, 6, 8, 10, 12, 14, 16.
A 10 B) 9
(C) 12 | (D) 14

GR1P 24 | c



62.

63.

64.

Shyam’s monthly income is Rs.12,000. He saves Rs.1200. Find the percent of his savings
and his expenditure.

(A)  10%, 80% \ﬂ( 10%, 90%

©) 80%, 10% 90%, 10%

‘eflwmblen wrg eumwrand 12,000, weuir CallEgh CGsrans ;.1200. euflar Callly, Qeaay
S weupden speissmss STaTs. -

A)  10%, 80% (B) 10%, 90%
(©C)  80%, 10% D) 90%, 10%

Due to increase of 30% in the price of a colour TV the sale is reduced by 40%. What will be
the percentage change in income? '

(A) 10% increase
(B) 10% decrease
(C) 35% decrease

\M 22% decrease

R euamarr Cgrenasm 4l Guliguiler Gzﬁsma)ﬁﬁ]éa 30% dlafgssrad 40% aflpuamen GmnHSS aranfléd
au@euruié grhuBD LTHDSms s6igS5S 0 ).

Q) 10% «dsfoy

B) 10% @mney

©) 35% soney

D) 22% @eoney

Find the least number which when divided by 24, 32 and 36 leaves the remainders 19, 27
and 31 respectively.

A) 280 : (B) 290

W 283 ' (D) 300

G crermenant 24, 32 wHmib 36 < uEsEL Curs wanGu 19, 27 whmib 31 e BHwrs
HDLEFTED SibS CTERTEOT STERT. '
(A) 280 _ - (B) 290
(C) 283 (D) 300
25 ) GR1P
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'65. If LCM of "a" and "b" is ¢ and LCM of "b" and "¢" is b, then what is the LCM of "¢" and

a". :
\(y a B b
© ¢ (D) abe

a wHmb b e 8.Aur.bLEIEG a eareyd b wHmL ¢ ar B.Qur. wLRE b aae)b QMmbsTd ¢ WLHMID

a e 5.Qum.o erema?
(A) a B) b
©) c D) abe

.66.  Which one is correct?

\Q( § 18 <IB =1
————<——<—< =
5 40 80 20 2

® 3.1 .-18 -16 1

5 20 40 80 2
' 15 -13 -1 -3 1
(©€) v

-—< < —i
80 40 20 5 2

(D) l<:§<—_—l<—_13<—m15

2 5 20 40 80

Easar_aipdie erg sflumerng?

(A) ~§<—_13~:_15<_—1<l

5 40 80 20 2

B) 3{—1{—13 -1

sl % )
5 20 40 80 2

(C) _E<__13<__1<__3<_1_
80 40 20 5 2

D) l4_—3<_—1~<~-—_13<_15
2 5 20 40 80

GR1P 26



67.

68.

x?-25 n__(x+5)2

DRnpHY x+3  x%2-9
(A) (x-5)(x+3)
(x-3)
(x+3)
S x*-25 (x+5)?
Oee% s x>-9
A) (x—5)(x+3)
(x-3)
- (x+5)(x-3)
© (x+3)

168
125

\5{ =
168

168

A frednchest

-( ) 125

' 125
0y =

; & 168

27

(D)

(B)

D)

B)

()

B)

D)

(x+5)(x+3)

(x -5)

(x -5)(x - 3)

(x+5)

(x+5)(x+3)

(x-5)

125
160

160 -
125 °

125

. 160

160
125

GR1P

[Turn over



69.

70.

GR1P

The exterior angles of a pentagon are in the ratio 6:3:4:3:2. Find all its interior angles.
(A)  60°,120°,80°,160°,120° (B) 80°,110°,150°,120°,80°

(®)] 100°,170°,160°,40°,70° M 60°,120°,100°,120°,140°

o guCsransdar CeueflaCarammadr 6:3:4:3:2 eranp  lflgsdd o areren  erafled  yge

2 |_Caremrigafilen Sie1esmars &I s.
(A) 60°,120°,80°,160°,120° (B) 80°,110°,150°,120°,80"

(C) 100°,170°,160°,40°,70° _ (D) 60°,120°,100°,120°,140°

Which one of the following cannot be the sides of a triangle?

(A) 4,5,6 3,4, 5

(B)
© 2,34 - '0{1,2,3

AemeumeuaneupmieT eTeneu (pEGEHTERTSS 6t LbERISETTS &S 1piguing)?
(A) 4,5,6 ' B) 3,4,5
© 23,4 D) 1,23

Without using logarithm table find approximate value for log,, 2.

(A) 0.2401 JOB

(C) 0.3802 - (D) 1.414

LDLEMS L auementenw L Lwetu®dsmoe log,, 2 e Camymu wéliy srawrs.
(A) 0.2401 B) 0.3
(C) 0.3802 (D) 1.414

. 98 | ¢



73.

74.

The cost of levelling and turfing a square lawn at Rs.2.50 per m® is Rs.13322.50. Find the
cost of fencing if at Rs.5 per metre.

(A) T 1500 (B) %1380

(C) %1225 M T 1460

S(H 51766 QLI LOGRT g5 FLUMRSS 81T BLL (&S .2.50 aigib @m.13322.50 Gsweunding
arafled 2ibs auweln@, Ceuell Siemnés L (1H&EE .5 eigib ereuaiene| ClFawe| Bi,Ew?

(A) T 1500 (B) ¥ 1380
C T 1225 (D) T 1460

The diameter of a semicircular grass plot is 70 m. Find the cost of fencing the plot at T 12
per metre.

(A) ¥ 7700 . (B) %840

\gf z 2160 | (D) T 4320

Sieyeul L augelonar LoQesef geardlar el Lib 70 m. 2igHE& snm Ceudl imwés @k BLLmEES
¥ 12 &igib erenen Glaaur@Lb.

(A T 7700 : (B) T840

(C) T 2160 (D) ¥ 4320

A circus tent is to be erected in the form of a cone surmounted on a cylinder. The total
height of the tent is 49 m diameter of the base is 42 m and height of the cylinder is 21 m.

Find the cost of canvas needed to make the tent, if the cost of convas is T 12.50/m?

(A) T63552 (B) ¥ 65352

M % 63525 D) T 65532

R ST&ESE aixl_l‘EIILDITGG’IQJ o menaruden 55 by @eranhs cuigeld J@LBGETETS. FnlMrgdlen
Qs 2 winb 49 S Sigen Sigliusagder ol Lib 42 8. 2 meveruursgden 2 wimd 21 S Gogi 1 &8
Ssgren geafllanr el 12.50 eafler smimb owsss GCsmeawnear Hssrean geaxfulen
alemeamws snas

A) T 63552 - CB) % 65352
©) % 63525 D) % 65532

29 GR1P
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75.

76.

Calculate the compound interest on ¥ 9,000 in 2 years when the rate of interest for
successive years are 10% and 12% respectively

A) ¥ 1,188 ¥ 2,088
©) T 4,39 @®) % 2,59

S AsTssE ADE50ES AIHEEHEE WwenCw 10% whmbd 12% ey Sssde T 9,0006@ 2
AT HEHEHEHE GFTLT 6uLliy cTéuaieTey?

A ¥1,188 (B) T 2,088
(C) T 4,396 (D) ¥ 2,596

A certain sum of money in simple interest scheme amounts to ¥ 8,880 in 6 years and
T 7,920 in 4 years respectively. Find the principal and rate percent

M Principal = 6,000, rate = 8%

(B)  Principal = 6,600, rate = 8%
(C)  Principal = 6,000, rate = 7%
(D) Principal = 6,600, rate = 7%

@ GHLYELL Sswrang safl el eissde 6 anhsaie T 8,880 ysayb 4 am@safler T
7,920 gysa)b wrMSng) erafled g LHMD Ll iy I5SMSE TS

(A) &6 = 6,000, cul lg 63 = 8%

B) s =6,600, eulig g = 8%

(C)  syse = 6,000, culig el = 7%

" (D) @b =6,600, euliy eSsid = 7%

7.

GR1P

A fair die is rolled. Find the probability of getting a.prime factor of 6

N4

)

4)

©

ol w|
bo | = Qo=

S Erran usmL @ (Pen e HLL LUUBEADG. i b6 usT srrafsear Hlass Hapsse wrg?

(A) (B)

o|lo wlk

©) D)

pO | = O
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78.

79.

80.

Country’s first transgender clinic was established at
(A) Gujarat
(B) _ Maharashtra

M Kerala '

(D) Assam

BLOg BT 16 Sl(HbhiessEndsear SpiiL| mgggmmmm erd rBleogHler Hlmeuliu’ (Hererg)?
Q)  ogms

(B)  wsmymesgym

(C) CGarerm

(D)  evevmD

Which scientific agency recently discovered evidence of water in asteroids?

W JAXA

(B) NASA
(C) ISRO
(D) CASIC

eThs sileflwe ey Hmpeuend SnCsrarsaiie sameait GHUuams sLSSHD s tﬂqﬁﬁg?
(A) JAXA

(B) NASA
(C) ISRO
(D) CASIC

‘?s first indigenous microprocessor is known as

Shakti
(B) NASA
(C) JAXA
(D) NITI

- @pdwurele e wpanwins 2 6TBTL 14 G swryren Feroswe

(A)  Shakti
(B) NASA
(©) JAXA
(D) NITI

31 ' GR1P
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81.  Which of the following taxes have been subsumed under GST (Goods and Services Tax)?

(A)

Corporate tax, Customs duty, Service tax

_ \(y Excise duty, Entertainment tax, Sales tax

(©)

@)

Minimum alternate tax, Sales tax, State VAT

Luxury tax, Capital gain tax, Cess and Surcharges

&Gy Qarasiiu’_{Herar eufl @epLde et GST eupbL&E 6T eumLeme?

(A)

A)  HAmeuer eufl, #is cufl, Ceeneu cuffl
B)  seme eufl, QurgGurse eurl, elHuemen.cufl
©) GoppsulswrHm e, slpuemer aufl, brfle VAT
D) L bugeufl, epeger eorub eufl, Sreneu LHMID s B eurl
. 82. ‘Namami Gange’ — Clean Ganga is responsible for implementing the pi'ogramme under

Rural electrlﬁcatlon

\(f Environment protectmn

(©)

D)

Swachh Bharat 2014

Awareness through village panchayats

‘Buomdl &smGs — &55WLT6T Shiens crarlg) erhs Hlsparflugd L flapsslula 2 6T aumb?

(A)
(B)

(©)

(D)

GR1P

glpmoliyy Wlengmyin

- SDHOIFESLPO UGS

&oud umys 2014

gmo uEhFTwS eped el emTTa
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83.  When was Pradhan Mantri Awaas Yojana Gramin was established? -

\M April 2016

(B)  April 2017
(C)  Apnril 2018

(D) - April 2015

“Yysmer ﬁ);é;ﬂfﬂ Sheuren CUITRET 6rhe [ Sleumslul L g)?
(A)  guge 2016
(B)  guge 2017
(C)  gugé 2018

(D)  eageé 2015

84.  Who said, “The District Administration is the total Management of public affair”?

\(9/' S.S. Khera

(B) Ramsay Mac Donald
(C)  Warren Hastings

(D)  Anumantha Rao

“wreul L Hlreursn creamig el () Gurss Qung efleusty CGuoanameamin” et sabluicui?
(A) S.S. Qapr

(B)  gmnCs Qs Quretma (i

(0) QUITT o G,@Gfmq.iéjsiu

D) ieEiwmHs el

c 33 : GR1P
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Lo

85.  Consider the following statement :
1. North-Western part of India get rainfall during North-East monsoon.
2. In India, Red panda is found in the western Himalayas.
3.  Tamil Nadu get much rainfall during South-West monsoon.
Which of the statement(s) given above is/are correct?
(A) Only1
(B)  Only2 )
y Both 1 and 2
(D) Both3and]1
ECy LerBésuul Harar aunsHlusmss seue
1.  @sdwureler eu-Cup@ LG, e s LmaussTHn sremigafld wawamw umSng.
2. @ndureien Gumne @uww weaelugdsate feuliy urarm srariiubhEns.
3. OserCGuneE umeussThm sresdld g@@ﬁ,n@ 218)& giera] wepaw QumSleamg.
CwCa QarRssiiul_[Harer aursdlwusSd creancu(&er) &fluimerng)
(A 1lwolpwo
(B) 2w @b
©) 1wHgw?2
D)  3wpmd 1
86.  Which of the following is recognized as the Regional Tsunami service provider for Indian
Ocean Region? _
(A)  Thuthukkudi - (B) Chennai
@ Hyderabad (D) Bhuvaneshwar
Geareumeugafile gy @QbHu CQumms,d uvgdssrar Grmbdu  seamll Csoeu podwns
QeweuBHdmns)
A)  g155564 . (B) Qseanan
(©) eandgrung 3 D) yeuCeaneveur
GR1P
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87.

88.

Consider the following statement :

1.  The national cadet corps was established in 1948.

2.  The Sainik schools were established as a joint venture of the Central and State

Government.

Which of the statements is/are correct?
(A) 1lonly
(B) 2only

MBoth 1 and 2 correct

(D) Both 1 and 2 wrong

SpssarT smhmssmar smaEle CQaer.

1. 1948 gyib yar(H Coélw wremmeul LanL end& L g).

2.  asafls uaraflsener 2 meundd wgHw wHmID wrHle 2T&sET Gamanhg) HLSSHSHns).

Cuhaaflu Qerm@pm_fe ergy sflwmang?
&) 1wl@o
@) . Pucpin
©) 1opmb?2 &
D) 1 wpmb?2 seum

Kargil Vijay diwas observed in

(A) 26 September 2018

- (B) 24 September 2018

© 26 July 2018
(D) ~ 24 August 2017

sMéld g Hand s Qg UILg)

(A) 26 Qstibuit 2018 (B)
(C) 26 gheva 2018 (D)

35

24 Qsvi_our 2018

24 @ysavr 2017

GR1P
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89. How many Islands in Andaman-Nicobar Islands were renamed by our Prime Minister on
December 30, 20187

A) 5 B) 4

< 3 O

éa‘rf)g,mrrsh Hl&EGamuiled o e TEHEET S |HEHE(E 0018, genur 30 oerm B TS
wr duwdiemr? | '

o

A) 5 ' . B) 4
© 3 | ™) 2
90. ‘SAMPRITI 2017 i.s a joint military exercise be‘twe'en armed forces of India and
(A) Bhutan ' MBangladesh
(C) Pakistan . . o (D) Myanmar
‘goufld 2017 ereug @BAHWT LHMID —————— S sliLienLsaflen sl Un@]@u LuH & L.
A) yLmer ' B) unsamGsey
(©)  urfavsren (D) - WSwiremon

91. In November 2017 and Indian short film “The School Bag” Won_the Best shcﬁ‘t film award at
the South Asian film festival held at Montreal. Who among the following is the Director of

the film? _
(A)  Anurag Kashyap J Dheeraj Jindal

(C)  Sujoy Ghosh _ (D) Samvida l\ldnda

peubuT 2017 yenmy wrer Mwellédr pe GLnm GaneE sl éjemrjiJQI_ aﬁlgprr'cﬁleb “8l avaac Cus
erenp QhHws @mbuLb Spps GHLULSEEST elmeasl uDDE). 'ggg@@u@LuuLme@ﬁ

SIUULSSlett QuIEGHT WimT? _
(A Sierné segwn | B) Sya HenrLméd
(C) syl Garay D) erbellgwr pHe

GR1P | 36 e



‘The China’s space craft that probe farside of the moon is
(A) Sputnic—1 A Chang’s 4
(C)  Chang's 3 (D) .Cosmos 3

Bleredien wmLsssms prmw S Siadu elamswsden QU erera?
(A)  evylaefsl ' B) emmd

©C) emm3 \ . ) (D) sreComen 3

Match the following

" Schedule Subject

" (a) TIirst Schedule 1. Division of powers between union and states
(b) Eleventh Schedule 2. Languages
(c) Seveﬁth Schedule 5 I Names of states and union territories
(d) Eighth Schedule 4.  Panchayvats
@ B & @
M 3 4 1 2
B 1 L 4 )
<) 2 1 3 4
D) 3 1 4 2
SpsseT_cuhenn &LImmsHgis
L g Wied Qummer.
(a) g Ll iguid 1. WSHEHIL S{7& LHDID Lnﬂlgﬁlmréw;aﬂml_-(ﬁmm et yHsry LSlTey

(b) uwfQenmesrpmb Uligwied 2. Qumf&ar
(c) Gj'%pm_b U ig uia) : 3. rhleriser wpoib weflwer QArGssmsafier QuwiT

(d) GrLLﬁLb STREPETHT-H 4. LIGHamLI &)

(a) (b) (c) (d)

@A) 3 4 1 2
® 1: . 3 4 2 s
©) 2 1 3 4
45 B8 S (P 2
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94.

"GR1P

Match the following :

(a)
(b)
(c)
(d)

Person

Abid Hussain

K. Parasaran
Subhash Kashyap

K. Punniya

(a) (b) (c)

1 2 3
1 2 1
3 1 2

Curmsss

B
(a) <952 Coan
(b) K. ugneyen
(€) &uTay SapUITL
(d) K. yelwur

(a) (b) (c)
(A 1 2 3
(B) 4 2 1
) 3 1 2
(D) 2 1 4

Lo

Eminent field/designation

Former Attorney General of India
Former Ambassador of India to the USA
Former Judge of AP High Court

Former Secretary General, Lok Sabha

glenm/usell

panamer @hAL Smaes aupssd e

2 dwilssnasenen apenemer Qndw grsi
penentar <y bHrm 2 wirbdl e ﬁ&@u;@l

aparanmar Quing) Qewer, @B nsaaTane
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95.

Consider the following statements :

According to the first stage of Demographic transition.
¥ Death rates are high. '

II. + Low birth rate. -

III.  Absence of medical aid.

Select the correct answer usmg the code given below :

M [ and I1I only £ (B) Tand 11 only -
(C) IIand 11 only (D) I, Il.and III
EDESETL FnDEND TS
WwEEET derens wrHpsSlen (g Hlenaudler Lig.

I . =fswra @ply eSsb.

II. . @eperar Gply aisb

III. wmsseu 2 g6l Geewmano

Spssar_aupmer sflwrer elenemw Combols[H&s :

A) I womon I vl @b (B) I wpmb Il wlGHid
(C) 1II wpmw I wi@Hid D) L 11 wpmw III
Consider the following statements, find the “wrong” one

1. Section 377 of the IPC recently reported in the news is associated with Lesbian, Gay,
Bisexual, Transgender and Queer (LGBTQ) Rights.

o

Joseph shine Vs union of India is the case related to 497 of the IPC.
3.  Indian Young Lawyers association Vs state of Kerala is related to women Rights.

Yashwant Vs State of Maharashtra is the case associated with Right to education.

M 4 only (B) 2 and 3 only

(C) 4 and 3 only B (D) 1only

EPEETL s DMESMET &(HSIEH, HFQ 2_dTer Seuprer saHepm SawrlHls

1. priy Qeiuflsaller eups @58 377 updu Hepereas “LGBTQ” 2 fMens(enL_6m
QHTLTLENL WIS <, GLD. -

2. Gegrets smulen Tl @b genBlub eremm eups@ @).5.8. 497 - ayLar QST T WIS G
3. @pdu @emd eupssdleisar adli Carer oirs eamp aupsE Guansdr 2 fewGur®

QSTLTLENLWIG < GLD.
4. weveus T OETITEVL Y |76 6TeiD cuLp&E sl 2 fMlanw s L GsT(H QsmLTLmL g @G
(A) 4wl@mo (B) 2uwpmb 3wl (Hib
(C) 4 wpmib 3wl B ' D) 1wl @
39 GR1P
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9.

98.

If the diameter of the earth becomes two times its present value and its mass remains
unchanged then how would the weight-of any on the surface of the earth be affected

(A) Becomes half Becomes one-fourth
(©) Becomes one-third _ - (D) Remains unaffected

yllblen eflLib @@mu&!@ Sgdlafs@n Curg ogenr Qunmeareny LIPTLOL GHES DG orefle
wblllen Guopugiiile 2 arer Hummetlen erent” ereueumm GeumuHEmag)?

A)  urd g B)  pradle m uESHundps)

(C)  apande e uGHuTdns (D) wromwe GmsHng

Nuclear forces are

\K)'l strongly attractive force

99.

GR1P

(B)  strongly repulsive force
(C)  attractive or repulsive depend on nucleans
(D) gravitational forces

Sl &E Neng cTETLIS)

A) oidls serelley FFr'Té;é;:a'; SalqlLig)

B) s semeiler ey clleng

) <iamssm gismer Qurmsg Fily elmasuinsCour g erdliiy elleeswrsCeur ammmﬁo :
(D)  yeluiriy eSlens

According to Moseley’s law the frequency of the spectral line in X-ray spectrum varies as
(A), Atomic number of the element
Square of the atomic number of the element
(€)  Square root of atomic — number of element
(D)  Fourth power of the atomic number of the element

Gomevedl —uflelr eilglliLg Saaraeuien ofiasmmeman QummES) X—&@W&,mﬂm SIEHELOTENED
ereueumml rmuB&Emg?

(A)  safllngder oam cramaent) QUTHSS

(B) -seflgglen igmy eresmentlen @) L_Miams QuTmss
(C)  sallwgden oigm cramaniian uiés apwsms AUTmEE
(D)  saflwgden oigm eramaniien prem@, wLkims Qunmss,

40 e



100.

101.

102.

103.

A Cathode Ray Oscilloscope (CRO) is used to measure —————— of a signal.

(A)  voltage _ ' (B) frequency

(C)  phase \M all the above

erdlimdlen eumis 5T dAemoey Mg (CRO), gdlensangulien ——————— o ojarés LwanuBHSng).
(A) Wl (L& sLd (B)  eidliQouem

(C) &L CGamewtd ; (D) Cumhsar wrayb

The Prime Minister of India announced the Havelock Island in Andaman and Nicobar
renamed as '

(A)  Netaji Subash Chandra Bose Island  (B) Shaheed Dweep Island
M Swaraj Dweep Island ' (D) Virsavarkar Island

sipsorer, H&Casrurfigidrear Canaiewrs alneE @BHw Wygwrre eydefaa i QUi eremen?
(A)  Cpsanad auneag sbdly Cumen Saj (B) srabls §..0 Say

© sy St Say (D) epseunsan Seay

Which one of the compounds is not a protonic acid?

(A) SO (OH), - (B) SO, (OH),
W BOH), (D) Po (OH),

Gemeumb CemngHle erg LCTTLLmem il 2jcven?

(A) SO (OH), (B) S0, (OH),

(C) B (OH), (D) Po (OH),

SO, acts as

(A) areducing agent (B) an oxidizing agent

w both reducing and oxidizing agent (D) neither reducing nor oxidizing agent

SO, eremug
(A) @ H&@D smyemfl (B) 2p58smen erpl
(C)  <=s8lmeanr gom — pH&EW sryeanf D) @rarGCGw Qeenaw

41 GR1P
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104. Nitrous Oxide is known as Laughing gas. It is also used in medical field as

(&)
(©)

Instant horse power
Antiseptic

(B) Prope.llant

M Anesthetic

eBLIen H&Hams® Sy (Hib - Gurru.; oren enpssluBEng. Goab @s) LD@EQJGU glenmulled
Gemeumomm LweatLBHS g

A)
©

2 L ey &Hleny Smerr
gl(mibl préleaflwimrs

B) o pg GQunmmerrs
(D) WSS LHHBSTE

105. Methane is the carbon compound. It's Molecular Formula is

J on, (B) CH,Cl
(C) C,H, (D) CCl,
B&Caem ep(p STTLGET Qa;nm@mm @1 APOEFDY. DSEYENL LI PPESTT) raurrmuurr@
(A) CH, (B) CH,Cl
© CH, ™ ool

106. Which of the following is strong acid and strong base reaction?

(A) HCOOH + NH, (B) HCOOH + NaOH
(C) HCl+NH, HCI + NaOH
leteu(meuareupmer eiflw @B iBlebd whmb eiflu BlEbs s dlamaamu Caibg or(Hdsa]b
(A) HCOOH + NH, (B) HCOOH + NaOH
(C) HCl+ NH, (D) HCIl+ NaOH

107. Find the wrong pair/pairs :

3.
4.
()

Metabolism

Auxin

Photolysis of water
Oxidative phosphorylation

1land?2

M 2 and 3

Seumrer @enewn/ @) enawTgenars s (hiLdlly.

B =

o

%Y
©

GR1P

cuaTT&lang LOMHmLD

2, sadle

Bflen @afllnfargse
2Se0lnGarhm Lreuufareantd
1 Hmb 2

2 bpmib 3

Sum total of enzymatic reactions
Photosynthesis

Growth

Respiration

(B) 2only

(D) 3and4

- L (HEwrss Gpréaatier eflenerser

42
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108. ~ Which one of the following is need on a non-conventional source of raw material for the '
paper production?

Bamboo - (B) Casuarina
M Sugarcane bagasse (D) Eucalyptus
&Gy G]Ssrr@e'ﬁa;uut'_@mmsmus;aﬂeb aeval wyysTgr  2.pusdl  Qurmerns  srflshd  HwTNEs
vwenu(H&lmg.
A)  apidd B) sasE
(C)  smby ssms D)  wsredluav I

109. Consider the following Endocrine glands :

1. - Islets of Langerhans —  Produce Insulin
2. Thyroid gland - Produce diabetes
3. Adrenal gland - Produce Goitre
Which of the following is correctly matched?
M 1 only ' (B) 1 and 2 only
(C)  2and 3 only * 5 (D) 1,2and3

&Q@&rr@é;aauuf_@drm prandlean sridsafe erg flwrs QUT@BBSILD :

1. @l e 2 Cemgnsmen - Gesdaen Qar[H&@n

2. espmi® &7 | - enssay allurdew Carhaew

3. < Mare syl — (e sP&HF sl (aTHEEWD
@A) 1wl | B) 1wHmbd?2wl G

©) 2 uwpys3wlGb - @) 1.2 opmip3

110. Which one called from the development and the maturation of the erythrocyte from the

haemocytoblast? _
& Evythropoiesis - (B) Erythrocynin
(C)  Erythrocyte (D) Haemotocyte

EpssamLaupiler Qrss Heaiy Sigmdser adflwl GLmlemevysafldimpbg o meurdl  apdliés
SiaL_6uBn @ Guiuir

.(A) erflgHGymumilen (B) mrﬂ{g@(ﬁrﬂrmae‘aﬁm
(C)  aRsHCrransL. D) abliol GLremst

c " 43 o GR1P
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111. Combined drug in use to cure the Malaria is’

(A) Quinine M Fansidar

(C)  Chloroquine (D) Primaquine

wCaflwureea @erLBSS SHGLITE LWETLRSSILELD gal [ Wb T8 ?
(A)  @Wlenaren (B) Guen#lm
(C)  @CarmGrmulies (D) Eﬂém)i'rm@uf.]e&

112, In mammals the mammalian glands are modied gland of following

1. Salivary gland
2. Sebaceous gland
3. Pituitary gland . _
(A) 1 only M 2 only
(C) 1and2only _ (D) 1and 3only

urn_ysafle) Lmed sr&ED sridasdr Derembd arndwrs wrHpuul () dewduBHng
1 2 BT &5
2. sCuSlwen @&rindl

3. G e A s&glnd

A 1wl@o : B) 2w @b

(C)y 1 wpmb 2 w Hid : _ (D) 1 womb 3wl Hibd

113.  Which of the following ecological Pyrainid 18 alwayvs upright?
W Pyramid of energy
(B)  Pyramid of number
(C)  Pyramid of biomass

(D)  (B) and (C)

@besn@euwm@@@b o1 Grrren @hblanauiliid gabyy?
(A) DD saibLy

B) aarmiléns saby

(©) oL sy

(D)  B) whmb (C)

GR1P - 44



114. Match the following rivers with its famous towns :

(a)
(b)
(©
(d)

(A)
(B)
©)

&G Qaan@é;aﬁuut'_(gdmn BHE@ET, DiF6 L&D G\;IITLE-.;I'IEQ g;aEUff:JéEGGITW@ Q;&SWI—"}HU O35

(a)
(b)

©

(d)

A)
(B)
©)
D)

Rivers

The Ganga
The Brahmaputra

The Yamuna -

The Tapti
(a) (b)
2 1
3 4
3 4
4 3

pdsar

GRIGT

Wgbwygym

Wwi(Lp et

MY

(a)

W W

O B

ST T

LRl i

(d)

= D WO

1
2
3.
4

(d)

| SR

pod e

Towns
Surat .
Agra

Guwahati

Benares

SIS

&S

<SLETT

Gauranssl

LIGTTTE.

115. What is the covalency of nitrogen in ammonia molecule?

@A)

2

@"3

B) 4
D) 5

<2iCunaflwreleé 2 drer enpL_regefen & NenewriiL eremr

(A)
©)

2
3

®B) 4
(D)

(o1}

45
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116. Which type of Forests grows well in a area receiving rainfall exceeds 250 cm, and
temperature is 25°C to 27°C?
(A) Tropical Semi— Evergreen Forest
Tropical Wet — Evergreen Forest
(C)  Tropical Moist Dpciduous Forest
(D)  Dry Tropical Forests ;
250 Q&.15. H@b siglawns wenp Qumfle) wpmib 25° C apge 27°C eaweny Qeuliub 2 d@rar ugHsaia
GTeURUENS ST (N&ET SrawTiiL (Hdlemmen ?
(A) DI LDERTL_6) LI LISELD LDTMTd ST (H&ET
(B) I SIWIET T FILLSNES L&HE®W WIS STH&EET
(C)  wear warLe FrLLslEs @enwuydn En@aa
(D) cumeiTL. iwen wawTL_c ST(H&ET
117. 1. Project Tiger is a Tiger conservation scheme
2. It was launched on 1 April 1983.
8 27 Tiger Reserves have been setup in 17 states under this scheme.
Which of the statements given abo-ve is/are correct?
(A) 1 only ) M 1and 3
(C) 1,2and3 ’ (D) 2and3
= LrTRsL el &t eramug) Ledlser ungismidnsns gnu@ssiiuL S r@Ew.
b @&HL1b eriged 1, 1983 @ gHUGHSILLLF).
3. @sdLgdlemmer 27 Lallser ungyamiugnd 17 wrfleomisafie qmu@g,g,uu;@mm@
CunEAluG L Uul Gerareuhmier ergl/ereneu gflwmaneneu?
(A) 1 B - B) 1womw3
(C) 1.20hmb3 D) 2wHmb3
118. Which type of rainfall is closely associated with Equatorial Region?
(A) - Orographic rainfall (B) Frontal or cyclonic rainfall
\(?' C_onvectional rainfall : (D) Monsoon rainfall
wwsdw u@Huler Qumflub weulier cuans
(A) e gL Y (B) auafl(ps g LW wenw
(C)  Geuliusear wanip D)  umeus srHm WL
GR1P
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119. Inversion of Temperature occurs during
(A)  Short nights _
(B) Long summer night and chill night
Long winter night and clear sky
(D)  Cloudy sky

Qeauiud semediprs LIMeISHEE Coenauliu{HID @PHlena&eT
A @onbs ey
.(B)  Hew CarenL smed wHmid @efli srhmy

(C) Bewr @aflitarew wHmib Gg,@ﬂameﬁr euTELD

(D) Guslb epig i cureid

120. The writing method of [udus Script was
(A)  From left to right only
(B) From right to left only

(C)  From left to right and right to left

. M From right to left and left to right

Apg swbeuef erpsg apenp eTeLg)

(A Quullmpba euewns eT(pgieug L (HLD

(B) cueoulmbs @Lwrs erpgieug i (Hib

(C) @ubimBg uems er(pgieug) HMID ULl (FHg GLIDTs
D)  admbs QLwns wdnb GUBmbE LTS T(pseus)

121. With reference to Sangam period which of the following pair is/are not correct

(A) Tramiradesa Sanghatam - Confederacy of Tamil States
(B)  Udiyanseral — First Chera Mannan
"(C) Madurai Kanchi - Mangudi Marudan
Naura - Tondi

&mig &b GaTLTurer eflughiseilen Spsean_meusafled erhg @eén CHTL T DM 2 6TaTg)

A)  HwplrCss shuargd - s warnaisaafien sal L entoliL
(B) 2 dwanCGeyed — g Gary ermaen
(C)  wgoT sTEHs - LDITRI@)lq LD(THSE
D) meyypm - Qgmewrig
o . _ | 47" GR1P
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122. Who was recognised as the ‘Successor of Sivaji’?
(A)  Balaji Viswanath - (B) Balaji Baji Rao
(C) Rajaram. w Bhonsle of Nagpur

‘Aeungdullen émrﬂeﬁ’ eTaul S ES&MNES UL LU wimf?
(A)  urerg efleveunns . (B) urrcuné] umedl grrey
(C)  @rrsgrymbd _ , (D) wrdyfler LimerenGe

123. The Battle of Talikota was fought in the year
(A) 1575 N .(p( 1565
(C) 154 o

o

w
~
g
—
1]
oy
[}

sanesGarian U GurT penUCQUHD eu(HLLD _
(A) 1575 -(B) 1565
(C) 1545 . (D) 1555

124. Which of the following pairs are correctly matched?

1 - City of Jaunpur ' - Firuz Tughluq
2 City of Ahamadabad " T Ahmad Shah _
3 Zain-ul-Abidin - The Akbar of Kashmir
4. Founder of Khalji Dynasty in_MalWa - Husain Shah
M 1, 2, 3 only : +(B) 2, 3only
(C) 38,4 oniy (D) 1only

Epasant_ @levanTaatley siluime @eaensaliul (Hererens seum(Hidlig.?

1. ggeus'r}r;é,r'r BETLD - 7 Gy gisens
2. SIEHOSTITS BSTLD = ABLDG| OGIT K
3. mulan o oyG8en C— sraybfler eisui
4. wreveurailer Hag aubssens Hlmedweur — D_EDAYEHT - QT

@ 1,230L00 _ ®) 2,3 6lEb

(C). 3,4 @b g (D) 1w @
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125. Northcote-Trevelyan Commission of 1853 linked with

(A) Education (B) Agriculture

\d ICS . (_D) Industry

BriEGaT_-1g Feucrwer sblagay e (1853) QAgm_ryenLwig
(A) sl (B) &Seusmuid
(©) 'ICS ' (D) Qsmfe

126. In which field, the colonial regime followed Downward Filtration theory?
W - Educational policy - (B) Industrial policy

(C)  Social policy . (D) Commercial policy

b5 geonuie sraafl s SPCHTES augal Hb Carluri e Gerupdlug?
(A)  soell Qarerens (B) dsrfe gienp Qamerens

©) s Gsrdtans (D)  Qumrmerrary Qardrens

127. Which of the following refers “Unity of Spirit” of Rabindranath Tagore?

\A' Unity of India

(B) Unity-in dive_rsity

(C) Consolidation of India

(D) India’s complexities

QreSpArprs sranflen “egorisgorear gpnew” e QerH@sTi &b GO Lapmdr crsmer
&lf@éﬁ\wm@?

@) @pdu eppe.

B) Ceupgienwuie epmeno

©  @bdu pomdm@eiy

D) @ssHureier LTSS ETENLD

= 49 : GR1P
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128. Match the correct pair :

(A)
(B)

s

(V)

Planets Density
Me-rcury - 1.000
Jipier — 19182
Earth —  0.387
Uranus - 5.203

sflwren @enasranwis Caiey Qe :

(A)
(B)
(©)
(D)

Gamer SILTES
Qusir ~ 1000
QAL Lt - 19.182
T ~ 0.387
wGremen - 5.203

- 129. - Which one of the following concept is not Ruie of Law?

(A)
(B)

(

Natural justice

Fair play

SpeupueuateunmieT o1gl ‘sl L SHen s F" e wing)?

(A)
B)
©
D)

GR1P

Qupes B

Blumuwrer Gewbur@p
SLLTE HLSSLILELD (euGeurmeumD ) G

B4 swggeud
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130.

131.

132.

133.

The Judiciary was separated from the Executive under which article

W Article 50 (B) Article 64
(C)  Article 60 (D) Article 51

£8 giewpwinarg) Blireurs gienpuiLb Q@B abs Spsam gL o niuy pped 9fssiul L g?
(A) el =2miyb0 B) &l omiy 64
(C) sl 2miy 60 D) &l 2muybl

The Government of India issued the citizenship (Pondicherry) order in the year

' 1962 B®) 1964

(C) 1969 (D) 1967

@BHu SiTETRISD G4 wéseT 2 Mevw (ureary &FGafl) yenammenws Geuatiuill L y,er(H
(A) 1962 (B) 1964
(C) 1969 (D) 1967

The Essence of “Judicial Activism” is an
w Active Justice delivery system

(B) Active Implementation of Rule of law

(C)  Active interpretation of law

(D)  Active Intervention of Judiciary

“Qewgnssid Asrar. B8 cupmisd” aaugsean 2 6Ter._&sLb
(A)  eflengeuns B4 cumiGeng)

B) sl sdan s _fevw eassons FenL(pannu(HSSeug)
(C) oadswns s L_gmg llansdl sameug)

(D) easswrs fHgmn samaoui(Heug)

Balwant Rai Mehta committee in its report suggested
Three tier system (B) One tier system
(C) Four tier system (D) Two tier system

udeunsTmTl CussT Geild iflsamauiid ufbgerasiulL g
Q) pam ARG Yo (B) @IdsE peop
©)  preng sIGEE e D) @uan® 2AGES pern

51

GR1P
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134. Name the Prime Minister when for the first time the No-Confidence was moved in the

Parliament?
M Jawaharlal Nehru (B) Lal Bahadur Shastri
(C), Indira Gandhi (D) Morarji Desai

BILTE@GLamSSL s weapwrs polsmsulomr Storarnd Osrar® eubs Gurg Mrsw
DIGLDFFTTE @)(HHSEUT wim?

Q) geasiwrd Cpm B) o usgT srevAf
©) @ndyr &m@ﬁ (D) Qumyre) Cgemi

135.  Which of the following statements regarding the fundamental duties contained in the
Constitution of India are correct? '

L Fundamental Duties have formed apart of the Constitution of India since its adoption
i Fundamental Duties are applicable only to the Citizen of India

III. Fundamental Duties have become a part of the Constitution of India in accordance
with the recommendation of the Swaran Singh Committee

IV. Fundamental duties can be enforced through writ jurisdiction
(A) I, II and III correct (B) I, 1II and IV correct
M II, III correct - (D) III and IV correct

Spsan sppsaie sflurecupan Csiey Qawus. Geaeumb @b SiFSHlwuaeambliy &I-_L_Qél@.

SiigUILIGHL SLOWSET GDSE) eu(HD Fflwrer sanmiser wreneu? _

L. @rfu sirflueenly Ll 2 maursdudled GQmbE glUmL SLW @ UGHuUNs
Bobs oAz . '

IL. SjgULienL sLand @hHW Gy Lo&aisE wL HCW Aummbsn

III.  eveugen & @ epobd SigliumL sLew&mar @f UGHwrs Srfwoeaoi] sl sl
CarssiulL g

IV. g8l CGuinenemraer @GULE SligLILEL SLEMWLEMET BlenepmlL (piguLd

@eummla :
A) L II womo III &/ ’ B) I II opmwo IV &f
(C) II, III &M (D) I wpgw IV &f
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136. The mandate of the official language commission under Art 344 is / are
g The progressive use of Hindi language for official purpose of the union

2: ‘Restriction on the use of the English language for the official purpose of the union.

Choose the correct statement(s) :
(A) 1 only (B) 2only
\M both 1 and 2 (D) neither 1 nor 2
Sirflweenwlyd sl srdg 344 S o manssuulL YU A Quryld yeoerwsHer venfl
ED&EEEST_cuDmET 6T8)?
1 @ndw geamdwgHer < & Qurflurs aflsSew Lgliugwrs sipoubSgieug

2. @ gamlusder o dl Cumurs grdodsmst uwaTUBHSHLMBE GDDSSHES

- Qamrereug).
sflwren cursdlugeng CorbOEMH
(A) lowl@po B) 2wl@wb
- (C) 1, 2 yflw @uar G D) 1, 2 @eveu ggadlaene

137. The words “Socialist” and “Secular” were added to the Preamble of Indian constitution by
(A) The Constitution (First Amendment) Act 1950
(B) The Constitution (Sixteenth Amendment) Act 1963
(C) The Constitution (Forty-Fifst Amendment) Act 1976
M The Constitution (Forty-second Amendment) Act 1976

ahs srflueamwlys Hmsss slLsdan S QbHU srflueeamwlyé steagda “GCaraalsw” wHHWD
“gFeTiuDD” e eunisenssear Candasliu_La? .
(A) @pseraug s sHmssn 1950
(B)  ufemprais s sH@ESD 1963
(©) . mrpusd @mmn@g,j sl L& masb 1976

D)  wrHusH GrerT_Teugy sLL G MHSSD 1976
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138. Who is among the following associated with “PURA” model?

@)
v
©
)

Dr. M.S. Swaminathan
Dr. A.P.J. Abdul Kalam
M.N. Roy

B.S. Minhas

Epasar_auiserer wrm ‘U wrdACwr® QerLiyemLweur euir?

(A)
(B)
©)
(D)

LT&LIT 6TLD.6TEN. &HeumdlBmgen
L 6.19.Cay. iigidsamd
GTLD. GTET. Ml

19.eren. OleEmen

139. Norman Borlaug — is associated with

1.
2.
3.

s

B)
©)
(D)

high yield variety seeds

chemical fertilizers

chemical pesticides

Select the correct answer using the code given below :
1 only

2 and 3

1land 3

2 only

prriwen GuTTens — eretucuT QBT wig

1.
2.
3.

(A)
(B)
©
(D)

GR1P

eSflwrys elengaar

JEMULIEHRT 2_[JRIGET

TETUIGRT Q&aﬂé;@]é;rrénéﬂ (B H&ISET
&Cp Qasrr@és&:uuLt_smaJasefﬂd) arﬂ_ﬁ_lrrsm eflenL_anw CarblsHiés :
1 vl @ .
2 wpmo 3
1 wHmd 3
2 B



140.

141.

142.

In which of the Industrial Policy Resolution (IPR) the establishment of socialistic pattern of
society was adopted? "

(A)  Industrial Policy Resolution of 1948
m Industrial Policy Resolution of 1956
(C) Industrial Policy Resolution of 1985
(D)  Industrial Policy Resolution of 1991
aps Qzmfnlsrdaems Sroraigded “swsin  wrHMl  swsrwsms’ THURSHSD ETETLS
ghm&QarereriulLg)? :
(A) 1948 oyib e[ QamPpGaraens Srorend
(B) 1956 b e (® AsrfpGsrarens Siomernd
(C) 1985 gyib yer(® QgrfnEanerens Siomard
(D) 1991 @b e QamPnsrdarens Sioren

Inflation adversely affects

(A)
©)

Profit earners \Zf‘ Fixed income earners
Speculators (D) Investor

UaTei&6565T THT®DWITES UTHES Salg WeUTSET

(A)
(©)

oruw FHCeurt B) Heoewrear aumeuris rlHGeumir

earg; urenflLgdd rFHUGCeumT (D)  @pseSment

The objectives of Monetary policy is / are

L
IL.
I11.
IV.
(A)

V"

Price stability

Economic growth

Social justice

Reducing budgetary deficit

I only " (B) 1II and III only
I, IT and III only (D) IV only

uamallwed Ganearengullen CrmasnisaT eTerLg)

L.
I
III.
IV.
(A)
©)

aflenev Hlenavggenento

QummenTsmy cueTT&d

Fps Hi)

2i7& eurey-Gewey S L dlen LHDTEG®DENI @GeDDLILIF

I @b ' B) I wpgw IIT wiGib

I, IT wmmb IIT wl @b (D) IV wul@b

55 - GR1P
[Turn over



143. With reference to NITI AAYOG, Which of the following statement is / are correct?

(1) Tfansforming and development agenda of India
(ii) Promoting growth and development.
N (i) only (B) (i) only
(C) (1) and (i1) only (D) Neither (i) nor (i1)

B 2,Cwré smEFILIUG, SPssam_cupmeT arg) sHlurear sapm ereaumg sar(Hy.&557?
(1) @ndurelen cuerisdl cpnéaiJ&mm wrhnems Geleug) -
(i) euert&d LHMD perGarnHpHang CuwbuBSgeug)

A) (1) wlEbd ‘ (B) (i) w @

©) @ wpyw (i1) w G D) (1) wpmibd (i) geupreneney

144. The “Social Protection Index” has been coined by
Asian developmeﬂt bank
(B) World bank
(C) UNDP — United Nations Development Programme
(D) Planning commission of India

“sapsmw LngisTiy GOUSEH”, wmyre &@éurrésasuul'_L@
(A) AW eueniiEs) eurmidl

(B) a‘ma; cumId)

(C) UNDP — g&éw prhaeflen cuenmsdl S b

D)  @pdw s ey

145. Pradhan Mantri Gram Sadak Yojana (PMGSY) is primarily
(A)  Rural Water Supply Programme
(B)-  Rural Employment Generation Programme
Rural Roads Development Programme
(D)  Rural Health Programme

Grsw wHAM Hyrbd s516 Hi_Lbreng) Spai(HeuaTeDIIET TSN E (PSETOWITETS)
(A) cans GrbTeusd HLb '

(B) eaps Caumeeumuliy b

(C) oaps sneme Cuwum B HLb

D) amr;&.-&.srrg_,rrq HLw -

GR1P 1



146.

A closed economy is one which

s L. does not trade with other countries

I1. does not impose and restrictions on international trade

ITI.  does not have a coastal line
IV.  is not a member of the United Nations Organisation.

Select the correct answer using the code given below :

w I only

(B) TIandIIonly
(®) I, IT and III only
(D)  all the above

Spaa_cunmled 678 Genm el QuTEHeTTSry-

I. Y pr@seser cunenfluib CupGsareretts QummeTTETyD

II. uaneT_ (B eurerfiugHle aThs SenLwb AHLILg Gdana

III.  sLe eufll ureng Gerarsg)

IV. g&duw prpsafiar sewibe o gufent @aemod @Qmuug).
Spsarcunile erg) enm sflwrarg) : -

(A) TwlEwbesef

B) Twpgwllsf

© LI wopw III &M

D) Cunsar smeardgHiD

According to R.C. Majumdar’s statement, the Revolt of 1857 failed because
(A) there was no unity of command in the armies_ of revolt
(B) the army of result suffered from serious financial difficult
(C)  the Indian states did not support the _revolt
\W there was no coordiality between the Hindus and Muslims

24,7.8). g Obsrier sapmiug 1857b e%;s'rr(a yrl&lulen Corevellssmen smyemid
A) @uremie eipiseflib @hmen @aeme |
- (B)  @rremieu eSyirseaflb QuTmeTTETT HagL b Q(HHSS
©  @uurdifie @pHu wssd gsra Gome
D) @z v @hmienw @dema
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148. Read the following statement and find out the correct one.

1 C.R. Das was known as Deenbandhu

2 He was the uncrowned king of Bengal

(A) © 1lonly | (B) 2only
\(9h Both 1 and 2 (D) Neither 1 nor 2

&G Qar@sasuiulLeaupean eunélgg), eflwrer el amw Combos(H.

1. C.R. srmev, Sanubg) erem lws Lmi

2. Beufm eURISTETSSET (Lig G LT LDETETT

(A) 1wl @o (B) 2w @b

(©) lwodmb?2 D) 1 woHmbd 2 @evene

149. Which song is called “The Bible of Modern Bengalee patriotism”™?

(A) Jana Gana Mana w Vande Mataram
(C) Gitanjalh (D) Devi Chaudhurani

‘velar curismear GCeegdlean enuidler eram enWsHUILIHIEUS?
(A) gen sen wen (B) eaupCs wrgmw
(C) &smepaad - (D) Czell Qaergnyentl

150. Who said “I am an Indian Tdmtom, waking up all the sleeping sleepers so that they may
wake and work for their motherland .... This is my task”?

\64' Mrs. Annie Besant
(B) Ravindranath Tagore
(C)  Sarojini Naidu
(D)  None of the above

“mren em @QbHw Loy Ceeued gmudls Qamary (mUUeuTsemer Brar arplds QararCL GmuGue.
SUCUTESTEN DIGUTHET CT(PHSI SMSET ST BTLIgD&ETS UTHUHUNTEET...... Q&G erang Lewfl’
ereum S Mwieuir uimm?

(A) éleTGﬂ@ LIGUEHTL_ HLDEDLDWITIT
B) rlbsrmrs HTHRT

©) &CGrrgdefl pry®

(D) Cuwihsadu wrmbdlaena
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151. What was the form of Struggle that Congress adopted against the British in 1940.
(A) Non-Cooperation '
\M Individual Satyagraha
(C)  Mass Civil disobedience
(D)  Armed struggle

1940-e srridlyev ymdCowmes adims eareucuamawurear CUTITL L 608 SWTERTLG|.
(A)  esgepuTdL QuEsD

(B). sgfundlgsd

(C)  Qummér Hmer Loy Quéstd

(D) CGumpricibd

152. Consider the following events and find out the chronological sequence of the events

1. Chauri chaura incident

2. Russo-Japanese war

3. Gandhiji returned from South Africa

(A) ‘1,23 _ B 21,3
© 3,21 D) 231

Wemreupeuareunmier smew auflengliuigwner flaswpeysamer Corb6s(H
1. Qsarfl Agerym Flapssl

2. reyw — guurelw Gumt

3. &mhd Asanenmudfssrelier @) mHa Hmbyse

4 . 1,23 @ 21,3

© 321 WM 231

153. In which year E.V. Ramasamy became the Chairman of Erode Municipality?
(A) 1907 ; (B) 1909

M 1917 (D) 1919

g eumLLb FF.Geu.@omogmd rGym@H 'r_rgasl;rrr-f_ﬂufﬂsh SOGUTTE @) (HHSTT?
(A) 1907 (B) 1909
(© 1917 (D) 1919
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154.

Pocket money received by 7 students is given below.
T 42, T 22, T 40, T 26, T 23, 3'28, T 43
Find the median.

(A) %26 (B) %23

W' <8 D) <22

155.

156.

(Y wrameuiser fears Qewealhens curhdw usmb EC AarTRssULL (HeTeng).
T 42, T 22,3 40,T 26, T 23, T 28, T 43

@eupdien @enLBlencuwieneaneus HremTs.

(A) T 26 B) T23

(C) =28 (D) 22

The Range of the first 10 prime numbers is
(A) 28 B) 26

©) 29 P

s 10 usr aramsafien eSFe
(A) 28 (B) 26
(C) 29 D) 27

The students of a class donated ¥ 4624 for Chief Minister’s State Relief Fund. Each student
donated as many rupees as the number of students in the class. Find the number of
students in the class

(4) 64 \M‘ 68
D)

(6 62 78

@@ cu@Llle o drer wrewmeuTaer m.4624 eopw psevenwésilen wrhle Heuryewr HlHwns Qegigdart.
geulleun(m wramaBh sa1g LRSS sag uGU® o drer wraTauirsallen aanamilsmas@ Fowner

Qgrensamw QarBHggeant erafled euglle 2 drer wrerTiser erigener Gur?

(A 64 (B) 68

GR1P

(€) 62 (D) 78
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157.

158.

159.

The average height of 10 students in a class was calculated as 150 cm. On verification it was

found that one reading was wrongly recorded as 130 cm instead of 140 cm. Find the correct

mean height.

(A) 150 cm B) 152cm

(C) 153 cm @(151 cm

@ auEUld 2 arar 10 wremreuisaflen gymefl 2wy 150 Qeld. ereans seamadlLiulLg). sflumréEn
Gurg 140 Q&b eramueng 130 Q&S aran geunns aBsEHS Qarareriiul Lgns Qsfluaubss. sflwrear

syrEf 2 wWyb Srerrs. _
(A) 150Qs8 (B) 152 Q&b
(C) 153Q@&8 ' (D) 151 Q&b

What is Mean of all two digit Numbers?

@f’ 54.5 (B) 495
©

45.5 (D) 445

imeangg rilewss aanseafler srref eranen?
(A) 545 (B) 495
(C) 455 D) 445

If ax® —28x+49 =0 has equal roots. Then the value of a is

@ 1 ®) 2
© 3 \gf 4

ax? - 28x +49 = 0.ereny swETUMNLig 6T epiiEET S eTefléd a & wliy

. A 1 ®3B) 2

(C)I 3 7 D) 4
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160. Find the median of the data.
12, 14, 25, 23, 18, 17, 24, 20
A 23 (B) 18
) 17 ' M 19

12, 14, 25, 23, 18, 17, 24, 20 erenp eSeurmsaflen Gent Hlenceniis sreins.
(A 23 B) 18
<© 17 D) 19

161. In a two digit number, the digit in the unit place is twice of the digit in the tenth place. If
the digits are reversed, the new number is 27 more than the given number. Find the

number.
&) 63 uﬁﬁ 36
(8] 93 (D) 39

e rlledss aarafla, gammbd QL @Qwés erar, ussTD @)L Qwés eramamenICUTD B WL RETS
2 arengl. Qessmsar @LID wrhlamd Ho s yHwu erar Qar@sslul L aamamearad 27 siflswd
erafied QamrHssluulL Flledés ararmaneanrs senr (hily.&s.

(A) 63 B) 36
(€ 93 (D) 39

162. The population of a village is 32,000. 40% of them are men. 25% of them are women and the
rest are children. Find the number of men and children.

(A) 12200 men, 11800 children
M 12800 men, 11200 children
(9)) 12220 men, 12200 children
(D) 12200 men, 11200 children

@@ Sgrwgder waser Ggrens 32.-000 o arenent. euisafies 40% yeawsear, 25% Quamaer, WBswb
2 eTGeTm T GLpHEMSEHET. LEMEET HOID G phHenssatlen crarTentsensamws STams.

(A) 12200 gyewrser, 11800 @pangaer

(B) 12800 yerser, 11200 @phengser

(C) 12220 gyawser, 12200 @yhagser

(D) 12200 gyamser, 11200 @Gphengsser

GR1P ' 62 (=



163.

164.

165.

Find the greatest number of four digits exactly divisible by 15, 21 and 27.

(A) 9999 \@( 9450

(C) 9845 , (D) 8505

15, 21 womib 27 dw epenn aarsearted WHulam aguib WsLCuflu preang Qass Guid erawr

erg)?
(A) 9999 (B) 9450
(C) 9845 ; (D) 8505

The GCD and LCM of two polynomials are x+1 and x* -1 respectively. If one of the

polynomials is x® +1, find other one.

@ &1 . M(ﬁl)(xz—l)

(©  x2+x-1 D) x%-x+1

A ueanliys Caremeseaiar B.Qur.eu. wHmL B.Qurw WenGu x+1 wHgb x* -1, Cogibd
2 uogniysCatae x* +1 aafld, LHAPTa@DE STETS.

@A) x-1 ' B) (x+1)(x%-1)

© x+x-1 D) =x*-x+1

“ Find the Highest Common Factor of 4p%¢°r, 8p°q®r?, 16 p%q¢*r?

(A  4p*e*? \9/ 4 p*q*r

(C) 16 pg*r (D) 16 p*g'r*

BLQum Qugeuesd srams 4p°q’r, 8piq*r?, 16p*q*r?
A 4prt B) 4p’*r
© 16p°g°r (D) 16p°q*r’
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166. Simplify the following:

(A)  x*-2x+4 \M xP+2x+4

(C). x*-2x-4 D) =x*+2x-4
e B 8

OGS ——+o—

A) x2-2x+4 B) x*+2x+4

(C) x*-2x-4 D) x*+2x-4

167. Simplify : B L + _,]
m+1 m+1 m~°-1
5 m? -1
(A) m- (B) =
m
1 m?
o L N4
© m* ' - m*-1
FHEGES  ——— + 1 + .
L m+1l m+1 m?-1
. _ ’ 2
@  m __ @ 2l
_ m
' 2
© = o - 2
m m- -1

168. If 3a+4b =22, 8a-5b=—4, then the value of (a+b)* =?

36 ' (B) 72
© 25 (D) 49

3a+4b =22, 8a-5b=-4, aafllé (a+b) e wdly wirg?

(A) 36 B) 72
©) 25 ' . (D) 49
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169.

170.

I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured cubes in it.
(a) What is the ratio of orange to yellow cubes?
(b) What is the ratio of green to blue cubes?

(c) How many different ratios can be formed, when you compare each colour to any one of
. the other colours?

(@ (b) (c)
(A) 3:1 1:2 10 ratios
(B) 1:3 2:1 4 ratios
©) 1:2 3:1 12 ratios

M 2:1 1:3 12 ratios

erenefl(pater g QU iguid 3 uFens, 9 Beod, 4 EHEET, 8 BYTEHE GTaT 24 CUERTERTE SETE §8)THIGET
2 _arema. erafley

(a) 2TEHS DMILD LOEFEET HeFFgITrisetlen eNSsD oremen?

(b)  u&ms LHYID Fab sarEssTRisalen el erema?

(c) R uSTERTSMS HD euaTenTRIGEGTTH UGN eTgmen SlfFRISET STapamid?
(a) (b) ()

(A) 3:1 1:2 10 ratios

(B) 1:3 2:1 4 ratios

© 12 3:1 12 ratios

D 21 1:3 12 ratios

A troop has provisions for 276 soldiers for 20 days. How many soldiers leave the troop so
that the provisions may last for 46 days.

(A) 136 156
(C) 146 (D) 164

276 ofipiiser 2 ater e LLLTaTESD 20 prlsEns@s Comauwnar sowwd QUImHETEET 2 6TeTs.
Qb Qum@eTsar 46 praTsErsE buss Cauar®walld agsmer aSrisdr @BsLILLL TETSMS
L (Hé& Deevrer CeuaT(HLb?

(A) 136 (B) 156

(C© 146 (D) 164
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171

Using clay, a student made a right circular cone of height 48 cm and base radius 12 cm.

Another student reshapes it in the form of sphere. Find the radius of the sphere.

M 12 cm (B) 15cm

172,

(C) 9cm (D) 14cm

seflaraany Lweatu®SH @ wraweuear 48 @el 2 wrupd 12 Qals <yyupb Qsrar,. CoT eul L
Samnd sabenus Qelgrr. Sdamibenu wHEADTH wreveuT @ Hamws Camearons mng}gﬁ]mm‘r.
icueurm wronuulL yHw Caneargdlen oy rsamss simes.

(A) 12 ecm (B) 15em

€ 9em - (D) 14em

The radius of a spherical balloon increases from 3 cm to 9 cm as air is being pumped into it.

Find the ratio of volumes of the balloon in the two cases.

A 1:3 B) 1:9

J 1: 27 (D) 1:8

173.

3 Q&5 b Qarerr Camer g6y -u@ﬁ@sﬂs‘q srhn Qegssliumin Curg oigea rb 9 el s,
SiHeNssre, sieuedlm Hlanawsafley ugnafen ser iareysaflen clldssmss sraums.

A 1:3 B) 1:9

© 1: 27 (D) 1:8

If the circle with diameter 4 ¢cm is inside of the circie with radius 10 em. Then the Maximum

possible distance between the centres is

A 6 (B)

=1

MS | . D) 9

GR1P

4 cm 6l Lgeng Gameam eul L b 10 cm yraperw eul L gHapyer 2 drer Curg) @) erbwWmsSEhaaE
QoL Cw Qmés Quad Sieuls smb aeer? '

A 6 B) 7
C 8 D) 9

66 =



174.

175.

176.

w{‘ 1 (B) 2
(O 4

What is the half of the area of the triangle whose vertices are (1, 1), (3,1), (1, 3)?

D) 5

@ weGaransdan paarsar (1, 1), (3,1), (1, 3) erafléd wigen urtueatelle LTSl Sraws
@A 1 B) 2
© 4 D) 5

A silver wire when bent in the form of a square encloses an area of 484 sqm. If the same
wire is bent in the form of a circle, then find the diameter of the circle. (use 7 :E)
(A) 14m _ MiZS m

(D) Tm

€€ 24m

@m Qeuerafls sl cuemersslLL( sgywrs WrHML CUTF. AL L LGWL LGS Wler LTy

484 5.8. =26 Qevatafls sblew el Lwrs cumarssIu®ng crafle eulLgder efll L b eremen?

(r= —2§2~ cren&QEmens)

(A) 1448 (B) 288
(C) 248 D) 78

In how much time will a sum of € 1600 amount to ¥ 1852.20 at 5% per annum compound
interest

(A) 2years M years |

(C) 4years (D) b years

T 1600 <yang 5% <pa(® sl B ul ly 65 Qaran( assmen am@said I 1852.20 @yEw?
A) 2 syaEmpser B) 3 yem@se
©) 4 yem@ser (D) 5 yar(ser
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177. If 123 represents “GOD”, 456 represents “CAT”, Then “DOG EAT EGG” may be represented

by
(A) 321 456 411 ' (B) 321 756 811
(C) 321 856 911 \gf 321 756 711

123, eraugy “GOD” eranmuenguib 456 eramugy “CAT” eranuamsuyn Ghlssted “DOG EAT EGG”

TR, GTEHETTE) (GHI&S UL QMD
(A) 321 456 411 : (B) 321 756 811
(C) 321 856 911 (D) 321 756 711

178. Find_the number of 3 digit natural numbers which are divisible by 6

(A) 151 M 150
(D) 149

(© 152

6 26 UGULS Sniqw 3 Qés Quid crarmsaflen craarflGans srarms
A) 151 (B) 150
© 152 , | D) 149

179. What is the probability that a leap year selected at random will contain 53 Sundays?
2
o ®)

7
4
(©) =

3|l =a|w

D)

goauruly wanwld Csihhshastu@n U amLLb 53 @ruiinns dpamwsamer Gsrar® @) (méEs

Blepsse) wrg?
2 3
4 5
© = ® -
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180. - Which among the followings are the major reasons for driving out sourcing?
1.  Technological innovation.
2.  Economic emergence of developing nations.
3.  The knowledge based economy.
4, Favourable balance of payment.

Select correct answer from the codes given below.
(A) 1and 2 (B) 4and?2
1,2 and 3 (D) 1,3and 4

EC @A Liul (Herereneusafied Qeut B STIRIGDET B (PUUSHSTET PSS SIS
1. Qarfled mIl L serHilig Lser.

2 auem(mLb BrHsefley QummeaTTsTy perCerhmid.

3. =udley &fffr,rj;g QurmeTTSmiD.
4

a158 eurantiué @phlane.

sMuihseaila @mba sflwrer eflenemw Agile) Gslis.
(A  1wHmb?2 : B) 4 wHmb?2
© 1.2wopmon3 \ (D) 1,3 wpmwb 4

181. Which of the following factors influence digitalisation in banking sector?
1. - Changing consumer behavior.
2: Financial inclusion and government initiation.
3. Increased smart phone usage.

Select the answers from the codes given below
(A) 1land2 B) 2and3
(©) 1land3 M 1, 2and3

Qeeumeuameupmier curiid gieppullaner LlerareniLi(HSSieuSHEd STTERTLONET STTaRtl&eT Wrened?
1.  m&rCeurflen BLeuly&sensudled TmiH0.
2. HHule 2 erem &b HMID dTFler PuHE.
3. ofls serefler sl esGusl LwaTLHSHISED,
GHlpsaio @ mba eflwrear elenemw Gsfley Qauis.
A 1wHpb?2 (B) 2wpmwn3
©) lwogw3 (D) 1.2 wHmwb 3
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182.

NITI Aayog Launched, ‘Atal New India Challenge’ program on April 26, 2018. This
initiatives is related to

1.  To design and demonstrate market ready products based on cutting-edge technologies.
2.  To provide grants upto Rs. 1 Crore.
3. Related to Agriculture and industrial sectors any.

Select correct answer using the code given below

M 1 and 2

183.

(B) 1and3
(C) 2and3
(D) 1only

euged 26 2018 ey Hld Cwns ‘@i ydu @rHwur FUTOSET arary L gg HBlpsid
Qaugg. @S LD GeaunCor® AsTLiymLwg

1. cwr Gsmfled mluggiLenr sag sHMSLULOSS SWTITE 2 drer CUTHLEMET 6UGeUMSF)
elllemd @ gev.

2. url 1l Gsmg eueny Hlgluysed.
3, Geuermesmrento wHmb QgmAngemnCur® wi_Gb QsrfyeLwg,.
@MuiGaeaier @mbg sflwrear slam_amw Gsfley Qelis.

A 1womb?2

B) 1 opmid 3

(©C) Z2uwomid3

D) 1wlEm

Cord Blood Banks located at ——————— in Tamil Nadu.

\M Chennai

GR1P

(B) Coimbatore
(C) Madurai
(D)  Trichy

Qsriiyer Qsmy. 158 Gy euiid sOPsEHD 6TriE, DIDBSIETETS)
(A)  Qsenenen

B) Cesmwubyssmm

(€) wgey

D) Hmes
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184.

Jal Kranti Abhiyan was not launched in the following Indian cities

Raipur
(B) Jaipur
(C)  Shimla
(D)  Jhansi

‘g6 éﬂrjmj;ﬁ S Gwnes’ Hib @pSlureled GemeuBbd eThS BETSSL DwOUBHSSIUL eSlerene

A gmayr
(B) Qg
(C)  eSlber.
(D)  gmans

Consider the following statement.

50% of the India’s poor people live in followingl states.
Uttar Pradesh, Bihar, Madhya Pradesh and Jharkhand.
Goa, Karnataka, Andhra Pradesh and Jharkhand.
Bihar, Gujarat, Himachel Pradesh and Jammu.

Kerala, Sikkim, Arunachel Pradesh and Bihar.

e RO DD (e

Which one of the above is/are correct?

\W 1 only _ (B) 2and3

(C) - 4only . (D) 1land4

SLpaetr_ GUFTSS&]UJSGUI;{&} Feue
@pdwrefe 50.0 eg6is gerw waseT SpaaTL wrflokisafld eurpdpriser.
1. 258y 95Gsew, Sart, wsHw 97CseD WHMID giseL.

2. Gameur, sTBTLSD, b T ArCsed HMID mieer .
3. Saonf, gmrrs, @wrew G9rGssid wHmib Hbp.
4.  Gsrarm, HE8b, ymewmea DrCseb wHmID Sammi.
Gl Qasr®issLul_{Herareunmled sTencu(ser) sflwnang)
(A) 1ol @on (B) 2wpmb3
(C) 4wl @b ' D) 1wHmb4
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186. The Urban Heat island effect is due to
| 1.  Concrete ﬂmr in Urban area.
2.  Low moisture content in the soil.
3. High wind velocity.

4. High rainfall.

Which one of the above is/are correct?

(A) 1land4

M 1and 2
©) 1, 2and 3
(D) 4only

“pay Qauiug fo” FHUGEHE

1. pamd ppeugid arendfi_Lmemer sgen GoHurliy
2.  wvanefler G@meurar FrULSLD.

3. s srhidlen Ceusd.

4. 9fls wenl Aumfey.

CuwCe QarHésiulLameasafld eraneu(ser) sflwurarg
(A) . 1wpmwb4

B) 1wHywb?2

© 1,2 wpmd 3

D) 4uvlEw
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187. The first language declared as the classical language in India is
(A) Kannada _ (B) Telugu
© Qriya _ ) \VTamil

@pdlureile eb@wmwurs Hflelssiul L apse Gwmy
(A)  semenb ' B) Gsame
©) eflwur : - (D) &b

188. The headquarters of the Interpol is situated in
(A) Vienna Lyon
(C) Washington (D) Geneva

sreuGse sreud giampussler, (QerTGLTD) smamLLISD SiewhgidTer @L LD
A)  wenarr - (B)  OCwmer
C)  aurafiar ' (D) Qagaflaur

189. The book ‘My Presidential Years’ is written by
(A) K.R. Narayanan (B) Giani Zail Singh
(C) S.D.Sharma ‘M R. Venkataraman

‘e GyedlClLeim_afluic) Guife’ ereiim mredlenesr er(pdlwieuim

A  Cs.yfi prymuemten o (B .ﬂﬂ_m_'e_aﬂ GQggulled Hri

(©C)  erev.ig. agiwom (D) <. Qeuris_grnesr
190. In which year “National Award to Teachers” was instituted? -

(A) 1960 M 1958

(©) 1959 . (D) 1962

‘g Afwisenésrar CoAlw alma” ehe ey S Tbl9ss Il L g)?
A) 1960 : (B) 1958
(€). 1959. - - (D) 1962
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191.

Pandit Deendayal Upadhyay National Welfare fund assisting to whom?

(A)

- Outstanding Research Scholars

Outstanding Writters

‘y Outstanding Sports Persons

192.

(D)

Outstanding Farmers

wairig - engswiner e unsHumu Cadlw pe 2 sel508TME WTHES uPRSLILEHEDS?

A)

B)
(©€)

D)

Slmhay eflaThi@d < rmiFHmeTiaEnéE
mhg) GleTRIGLD CT(PSSTETTSHEHES,
b elarii@gd eflenerm [ eS7TsEH&E

Anbg elemii@d efleusmuils @@

What is the purpose of Gaganyaan project reveals by ISRO?

M Three Indians would be sent to space

GR1P

(B)
©
(D)

Communication development
Protection to fishermen including assistance to them

Assisting customs in anti-smuggling operations

@evCrm Qeuafliu@Gsuyerer “ssanurer S L sHer” CHTESLD cremen?

Ay

(B)
(©)

D)

epenm waflsismar eilaneuafls@ iatiyga
s&eue Gy
Bereuisener LTGSTUILS LHNID SHeufsEhssrer 2 g6l efiliug

saTaTEsLSsMme SHULsHETar Deudaapsaia 2 gellwins G wHLUg
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193.

194.

Which of the following group constituted the State Reorganisation Commission?

Pannikkar, Fazl Ali, Katju

MF&ZI Ali, Pannikkar, Kunzru

(C) Dhar, Fazl Ali, Pannikkar

(D)  Kunzru, Katju, Dhar

wrlomser UL pemenmusdle QL b Qubm @ e7g?

(A uellés, L 216, s &

(B Sumd 6l uamflast, Gete(m

(©C) & ooumd e, ueamflést

D) Eaevm, sl i

How many states in India have achieved 100% Household electrification?

(A) 10 States
B) 12 States

©) 13 States

y 15 States

@rdwurele assman wrHlomsafler 100% eSHsEREE Wer cusd gpuBSSUIUL(HeTerg?

(A) 10 wrhleniser
(B) 12 wribleomiger
(C) 13 wrhleniser

D) 15 wrHlenser
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195. Whggs the head of the three-members Lokayukta search committee?

Thiru. K. Venkatraman (B) Thiru. K. Chanduru
(C)  Thiru. M.K. Krishnamoorthy (D) Thiru. A. Raja

gpenm Guim Qarenr. Coorsgywssm—eilar CaH&60 @ SMeeuT WTi?
A) . K. Qeurus_gmwoen B) Hw. K. sbam
©C)  Hm. M.K. Simesamepiss (D) Hm. A. grgn

196. For which country Prime Minister of India announced Rs. 4, 500 crore for hydropower
projects 2018?

(A) Nepal - (B) Pakistan
Bhutan ! (D) SriLanka

g BriigHE Qbslw Wrsw whSil eurser . 4,500 Gamg Fillear £ hisErdsts LkigaNULSTS
2018-60 ydlediggmit

(A)  Cmumemd B) urdlevgmen fl
©) yrmen D) Qomms

197. Which statue is called as “Statue of unity”?
(A)  Statue of Liberty (B) Statue of Mahatma Gandhi
W Statue of Sardar Vallabhai Patel = (D) Statue of A.P.J. Abdul Kalam

wrmenL_w Hena, @hmienwoudler femeawimi SmsiuHHng?
A)  sspdrsdern Have (B) warswor srpdufen SHenew
(C) sigmiauoeouri UG dlaflame - (D) ¢.9.05. wlgo somdar How

198. Which scheme is a placement linked skill training programme to empower rural poor youth?
(A) '~ Pradhan Mantri Awaas Yojana — Gramin i
(B) Pradhan Mantri Yuva Udyami Vikas Abhiyan
W Deen Dayal Upadhyaya Grameen Kaushalya Yojana
(D) Deen Dayal Yuva Vikas Abhiyan

Srmoym Generepisaflen Gauaney cumiiliygane Smenwo uuSTg)&eﬂ 2eflliug) s QL_L_LD?
(A)  Qrsrer wHHMN yeurev Cuimget — Symislesr

B)  Qrsren WHEM weur 2 gwd eflsmev Awimen

(©) den swred 2 ungwmw Symblen Qaerapcvus GuimsgeT

(D)  dlen swimed weur eflamen Swimredr
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199. Doklam Standoff is related between the countries of

M India — China

(B) India — Bhutan
(C) India — Tibet

(D) India — Nepal

“Curdmb Yrsgeamen” Qsmiyenw prHser |
A @bdur - fer

(B)  @bHwir -y mer

©  @pdur - SAUS

D)  @pSur - Gpumand

200. Jagjit Singh Vs. State of Haryana (2007) is the case related to

(A)  Electoral Reform
(B) Election Commission

- \/ Members (MLA’s, MP’s) support from outside

(D) Criminalisation of politics

QAmsdssin Vs. apflwrerm wrfle <irs (2007) eupdsE ————— gL e QgniyeLws)
(A) CGsige §idmsso

(B) GCsirge syenamrwuid

©) .agxﬁ Genser, (MLA’s, MP’s) Qauafludier @mps <876y SmHs50

D)  swdue goneuraiisamowwmge
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